Time : 3 Hours Marks : 200
Instructions :

(1)

(ii)

Each question carries one mark.
(28 (B 28 -y od.

Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

BHS 3W)S (D8 (DB adg &S o3 es® DOODI DITEIBNB I EX &I
20T @03 1, 2, 3 BE 4 TS ad S OMR 36708 HED0S® (D918 Do 040Dd
Sowg do wEEL /e S rowod D) GHTrHoD JoDHT.

1. A bank is giving loans at the rate of 10% simple interest. Kumar asked for a loan at 8%.
After verification, the bank sanctioned his loan at the rate he asked as the bank is getting
an interest twice as much as it gets on Rs. 40,00,000/- at the rate of 10%. What amount did
Kumar take ? (in lakhs of rupees)
a8 ergod 10% H8¢ $68° Somreo adod. HBrE 8% $38 Swo Sords. drdem
Eoed, rgoHH S Ko 53 éczg, g>. 40,00,000 = 10 % éé@s 5T Do
2 Toorr Bokod HHrGEH Serd) o Bod. HIrE 8HHI) HhaTod?
©305 $& Tws (v§o Srrdhod®)
(1) 100 (2) 90 (3) 200 (4) 180

2. The compound interest on a certain sum at 16% % per annum for 3 years is Rs. 12,700. The
simple interest on the same sum with same rate of interest and for the same period is
(1) Rs. 9,600 (2) Rs. 10,800 (3) Rs. 12,000 (4) Rs. 10,200
Jend 162/3% THPS 3 DodEyorodH Fod Jdwy » 5@5% 8. 12,700 ©@003&.
OT PPy D, w08 $G TS, o8 JLHrIE Fede I
(1) &. 9,600 (2) &>. 10,800 (3) . 12,000 (4) &>. 10,200

3. The compound interest of an amount P for one year at the rate of interest 8% per annum

is Rs. 600. The compound interest for 2 years at the same rate of interest for the same
amount P is

(1) Rs. 1,248 (2) Rs. 1,428 (3) Rs. 1,644 (4) Rs. 1,648

a8 Bngo P 8% $& T o 20580708 SN S(ESE 8. 600. T Ingo
P » od Twns&® 2 éoéég@’@é‘s 26323 zSL§X)§

(1) &. 1,248 (2) &». 1,428 (3) &x. 1,644 (4) &x. 1,648




The ratio of the ages of Ramu and Gopi three years ago was 4 : 3 and two years later it
will be 5 : 4. The sum of their present ages is

3 KDOB/DéQO"’Q) Bgo ordo, 5o S5k b‘&g@ 4 : 3, Bodko fooéégcr’m SSoares
©d 5 4 oPHod. 0 (DWE e Bwudo

(1) 41 (2) 43 (3) 45 (4) 48

Three containers have their volumes in the ratio 3 : 4 : 5. The containers are filled with the
mixture of milk and water. The containers have milk and water in the ratio 4 : 1, 3 : 1 and
5 : 2 respectively. The contents of these three mixtures are poured into a fourth container.
The ratio of milk and water in the fourth container is

Qardy r(Eo PIVOITre Ry 3 1 4 1 S & gl Jod HOB» Q&3
&L%Eéoogs Qordd. e @"Lée)é”si) Jew, 08 VR oo H8d 4 11, 3 1 1 Hoddd»
5 2. 88 Sordo @“Lé@@%b WFITOD TS @Léé”s B0, TP Dd 31’@.“9@5{’20 TP
$000%0 SRS

(1) 4:1 (2) 151 : 48 (3) 157 : 53 4) 5:3

If three numbers are in the ratio 3 : 4 : 5 such that the sum of their cubes is 1728, then the
cube of the middle number is

Hardy Dopge Hrre Fodo 1728 wThghwem &b) Dopge 038 3 1415 wond
éocﬁg {oong [SSEEIPRERCEVENES

(1) 216 2) 512 (3) 256 4) 128

The electricity bill of a certain establishment is partly fixed and partly varies with the
number of units of electricity consumed. In a certain month when 540 units are consumed,
the bill is Rs. 1,800. In another month the consumed units are 620 and the bill is Rs. 2,040.
If 500 units of electricity is consumed in a month, the bill for that month is

(1) Rs. 1,560 (2) Rs. 1,600 (3) Rs. 1,620 (4) Rs. 1,680

2 Srgard HoP WoF) Adgs Do FrFomr Do, FrEEomr AITIrHoVd e
Bardedo  § BrSHEr ©0w00d. af Jod® 540 Swrde VTS HDYO Deo
8. 1,800, $6°8 Jo&® 620 c5rdy IITrmd8 SIS Do 8. 2,040, a8 Jod®
500 C5ordee IIWrAcDIPE T DSgs Hed

(1) &. 1,560 (2) &. 1,600 (3) & 1,620 (4) 8. 1,680

6 labourers can build a wall in 10 days. How many labourers of double the efficiency are
needed to build 3 such walls in 5 days ?

6 B DAY 2 g 10 SPewros® Sodod. 208 TEoY Fdoggo @Sy
DAy wwwdod 3 Fdod 5 Swrod® 0ads o8 55072

(1) 36 (2) 18 (3) 20 (4) 16




9. There are 100 students in a class. Number of boys is 10 more than the number of girls. The
average weight of boys is 50 kg and average weight of the whole class is 45.5 kg. The
average weight of girls is (in kg)
w8 S368ST 100 Ho0d Dmg(@ﬁow eI 8. wrend Dopg wrdfo Dowg 08 10
P8 D, wroad DALy Ky 50 8o S358S*Q Aorgooodd diwy  Soxy 45.5 8.
rO8o DAk K% (B (Todh)

(1) 40 (2) 45 3) 50 (4) 52

10. In a team of eleven, the average age of eleven players is 28 years. What is the age of the

captain ?

I.  The captain is eleven years older than the youngest player.

II. The average age of 10 players, other than the captain is 27.3 years.

Choose the correct answer

(1) I alone gives the answer but not II (2) 1II alone gives the answer but not I
(3) I & II both are required for the answer (4) Iand II both together can not give the answer
11 &ood Ho &%}33@5%, 11 So0d eséam@:é@ DGy HT300o 28 Dodyoren. wo FPB0HE
Sosowoe?

L 2680 98 05) $000 Ho esbmd 08 oohHhd: 11 Soddyores 4.

II. Secso8doseE, NADS Do Hood e:sé)ﬁ"@i@ Dfdn DA% 27.3 JoHEyoreo.
2T DIrErdo JoweEod

(D128 8 5T Ddrerso 9000, T adgd (2)I1a8) 8 1T ddrerdo adyod, 1 adgd
B) I &I Bodr DIl e9ddS R (4) LI Todr g0, 267ra80 adgd8H)

11. A library has an average of 510 visitors on Sundays and 240 on other days. The average
number of visitors per day in a month of 30 days beginning with a Saturday is
2.8 (Hogrodirdd ditd wdarorod® 510 H08 $:005» WADS dared® 240 Hr08
[SISTAIe SIS PRt deoR 8N 33365@@)35 30 daren #OAD Jod® af 88 (Hogrodirdd
HTY Do y%e Dovdd
(1) 250 (2) 276 (3) 280 (4) 285

12. Read the following statements

Number of candidates interviewed by panel A out of the three panels A, B, C is

I.  The three panels on an average interview 20 candidates every day.

II.  Number of candidates interviewed by A is 2 more than the number of candidates
interviewed by B and 1 more than that by C.

(1) I alone gives the answer (2) 1II alone gives the answer

(3) I & II do not give the answer (4) I & II together give the answer

& (Bod argpgod SSHod

Hage ko @"53@35\)@ A, B, C o&?, S A3 ETIe Y Do é @a;fggoe) dowg

L3 rgB&oy difens (98 &%~ 20 %208 wgdods owdrgs Brow.

L A3 rowdrgs Wodhg & wagdo dowg B = Badog ) @Qfggoe)éo@ﬁ 2, C3
Josg B g 08 1 2%). '

(1) T 3 ddrgrdo adod (2) II 3@ ddrgrdo 8008

(3) Taose II, Bodr vdrerdo adgdly (4) Iaos I, Todr €92 ddrardo adrow




13.

Assertion (A) : If the average of 20 numbers is zero, then there can be at the most
19 positive numbers among them.

Reason (R) : The average of the first 20 natural numbers is 10.5.

(1) Both (A) and (R) are individually true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are individually true but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

DByERw (A) 1 20 Jowgo (DHL0) Dordd Dl ®WoNd, S dégon 19 &3
Yoospgeo € 0e6580).
s*deo (R) P BudE 20 ST Dopgo (D) Doedd 10.5.

(1) (A) $:605» (R) Bodr aGddom $TIF5°E (A) & (R) ©TD 580
(2) (A) %005 (R) Todr a@ddom 3093 522 (A) & (R) HTS 8w 560
(3) (A) $B56 59 (R) 0057
4) (A) 056 5 (R) $THT

14.

An owner increases the rent of his house by 5% at the end of each year. If the current rent
is Rs. 3000 per month, what will be the rent, in rupees, after 2 years ?

28 808 CHEITrI EI 08 ©3H (D8 Dodd 8o WVIE 5% Dodherd. © 108
ad8 9T JoEH . 3000 o0 @ond, Todk VodE oo EHhard 9T (Srardhed)
QDo Godwod?

(1) 3300 (2) 3150 (3) 3307.50 (4) 3207.50

15.

A man bought a horse and a carriage for Rs. 30,000. He sold the horse at a profit of 20%
and the carriage at a loss of 10%. Finally he gains 2% on the whole. The cost of the horse
is

(1) Rs. 9,000 (2) Rs. 10,000 (3) Rs. 12,000 (4) Rs. 15,000

a8 Hg 8 Moordy LOdsn W(ED i:xé’b 8. 30,0008 Sy, €8 fo(orR) @Ed 20 %
o8, HEH  AD 10% $rd8 ®d;yd. VIS ©wEl Bwudo QNS 2% oo
dardo. Mo b

(1) &. 9,000 (2) . 10,000 3) . 12,000 (4) . 15,000

16.

On an article the manufacturer gains 10%, the wholesale dealer gains 15% and the retailer
gains 25%. If retail price of the article is Rs. 1,265, the production cost of it is

(1) Rs. 800 (2) Rs. 850 (3) Rs. 900 (4) Rs. 950

a8 HHD, SA3rdardds 10%, &% o°gar08 15%, Dod agardd 25% orgo
52008, © IH Vel FE Er. 1,265 wond, od S05r8 pdd)

(1) &~. 800 (2) &~. 850 (3) &°. 900 (4) &. 950




17.

The difference of two numbers is 1660. If 7.5% of one number is equal to 12.5% of the
other number, then the two numbers are

Todko Dompge Doy Fdo 1660. 2.8 Qopg W) 7.5%, $08°8 Qowg Gy 12.5%8
DIrIFE © Tods Dopgen

(1) 2490, 4150 (2) 2510, 4170  (3) 2600, 4260  (4) 2700, 4360

18.

In a group of people 72% drink coffee, 44% drink tea. If each person drinks coffee or tea
and if there are 40 persons who drink both then the number of people in the group is

af DB oSt HgHest T2% Hood 5%, 44% %086 & (Triherdd. ©osSt (H8
és_@o SRR, Smd (erherds, Todr (&0 Hg%00 40 H008 BoNE & DI 0d’
Hge Dowg

(1) 250 (2) 200 (3) 300 (4) 450

19.

A shopkeeper sells two T.V. sets for Rs. 20,000 each. On one he gains 15% and on the other
he loses 15%. Then, the shopkeeper’s gain or loss is

(1) gain of 2.25% (2) gain of 4% (3) loss of 4% (4) loss of 2.25%

a8 dosteordody 257 8) TV & 20,000 S°Hpd Todo TVed @Do&mcéo. a8 TV
50 Ed0 D @EIE 15% orgfdan H0d%n Todkd TV D «@dd8 15% S dn $)36.
OHPd, @ $HSTHTEIE $D)S orHn TE SHdw

(1) ooesdn 2.25% 2) worgsm 4%  (3) oo 4%  (4) Ipde 2.25%

20.

A shopkeeper purchased a TV whose marked price is Rs. 16,000 from a dealer at two
successive discounts of 20% and then 10%. The shopkeeper spent Rs. 480 for transportation
of T.V. If he sold the T.V. for Rs. 15,000, his gain percentage is

ud &% g0 o0& wE dsrerrdid (DE8E Jo Ir. 16,000 «S) a8 TV
HEDe Todo Ehow) F8oo 20% & Sard 10% o¢® o . 0808 & TV Sarer
D@8 S 480 ) ©wonsd. wdd ¢ TV &r. 15,0008 ooy €. «dd8 HDyd
SRV AT POV

(1) 30 2) 25 (3) 20 4) 15

21.

A shopkeeper finds that the profit earned by selling an article for Rs. 1,470 is equal to the
loss in selling the same article for Rs. 1,050. If he is to make a profit of 30%, the sale price
of the article should be (in rupees)

.8 Sosterardaddy af S doe. 1,4708 @8)3&3 HDYS orgfdo, T H/YHD 8.1,0508
@3)3&?39 SEART éﬁgéw@s DOFFoNISY HoVowrd. @88 & S @Eéo&ézéwé% 30 %
oS0 PEre0E, e SDE wodHoVd ©HEY Y (Srrones®)

(1) 1638 (2) 1600 (3) 1578 4) 1532




22.

A and B started a business with Rs. 16,000 and Rs. 12,000 respectively as investments.

After 3 months A withdrew Rs. 5,000 and B invested Rs. 5,000 more. After 3 more months
g 1021254 0‘[166 business by investing Rs. 21,000. After a year they got a total profit of
s. 26,400.

Observe the following statements

(a) The profit must be shared among A, B, C in the ratio 7 : 9 : 6

(b) (Profit of B — Profit of C) = Rs. 3,600

(c) A’s profit is Rs. 16,000

The correct answer is

(1) (a), (b) are correct (2) (b), (c) are correct

(3) (a), (c) are correct (4) All (a), (b), (c) are correct

A $805» Beoo 58000 &, 16,000, 8. 12,0000 Zoéw &8 o8 Fgrdo (rFoowrdd.
3 Jve $SHard A, . 5,000 326%2)_ @i’oé"’s"‘lcéo; B zos® &om. 5.00000 &0 &
DErds. 1of¥ 3 oo SSHarg C, 8. 21,0000 e 38 argardod® JoTcds. wf
DodEy8o Sard 308 JIugo . 26,400/-0 oo HVHos.

Bod (DIWSD0en H0800B0&

(a) oredy A, B, Ceo 7:9:6 EOK:L‘D&_%@@S% H0WIETI5 B

(b) B 8 wrgfo - C 8 wrgfo) = oo, 3,600/-

(c) A8 &r. 16,000/- orefo

DVOTDS Ddrerdo

(1) (@), (b) @ H8BID (2) (b), (c) @ HBPID

(3) (a), (c) @ DOPID (4) (a), (b), (c) oo @i); D805

23.

A is twice as efficient as B and together they can finish a work in 18 days. A alone can
finish the work in

(1) 27 days (2) 54 days (3) 36 days (4) 45 days

B &) A Bgop FHggos® 0D TFdhdeds 0050 J0LEr 8D af DI
18 Serod® Lro Tohieds A af)d & HIJ Lo Dohde vHckho

(1) 27 &%een (2) 54 &%eren (3) 36 &*een (4) 45 &°eren

24.

A and B undertake to do a piece of work for Rs. 6,000. A alone can do it in 6 days and
B alone can do it in 8 days. With the help of C, they finish it in 3 days. The share of
C in the amount is

(1) Rs. 3,000 (2) Rs. 2,250 (3) Rs. 750 (4) Rs. 1,500

A, B oo 28 HJJ 8r. 6,000 Hro DoHards e p&o)dh. &8 DAY A €l 6
lerodtdr, B a8y 8 SPerod’l Pro Bahdod. C DHF08 I8 &8 DA 3
BPerod® Fro Jad. @“éw%ef’ C ®0g) zrdo

(1) &~. 3,000 (2) . 2,250 (3) &o=. 750 (4) &>. 1,500




25.

A cricket game is played between two teams with 50 overs. In the first ten overs of the
game the run rate was only 3.2. In the next ten overs it is increased to 4.6. If the captain
decides that the teams’ total should be 303 runs, what should be the run rate for the
remaining 30 overs ?

Todo @io a8 50 45¢ (836 wod wmron. wod*d Tdd 10 LIS Do
Doedd 3.2 ESHhaed 10 éoégé“g ©d 4.68 »0A0H. wh Jr0% Bwdo DI

303 BOSJTSQJEO Dgooa'fg AdS 30 é;?égé% DB Hordbd dod dowd?
(1) 6.25 (2) 6.5 3) 7.0 4 7.5

26.

A company paid Rs. 6,00,000 as bonus to its employees at different levels A, B and C. Each
employee at level A receives one and half times of the amount that was paid to each
employee at level B and each employee at level B was paid twice the amount paid to the
employee at level C. If 50 employees were on level A, 75 on level B and 100 on level C,
how much amount was paid to each employee of level A ?

(1) Rs. 1,500 (2) Rs. 3,000 (3) Rs. 4,500 (4) Rs. 6,000
A, B 500030 C o9l (g“oooe)ef’ &) ﬁcﬁsgﬁo@s’o w8 0™l &, 6,00,000 Sngo SPEDmr
aF0d. A Fonstd é&sgﬁg DS InEo B Frond®d & gh8 adys Snands w88 8
Téw éo@oi;o B ‘gﬂoooe)é’sﬁ) a&gh8 adyd Bolae_ﬁ;o C <g°ooae3’83 a8 gh8 ad)d Booed8
Todo Béo. A Jrons® 50 H008, B Fows® 75 $508, C rond® 100 H0086 &&°gHenod
A cg“oaoei“g n%é‘l af a&gh8 adyd ‘25%265 Qo&? |

(1) &. 1,500 (2) &x. 3,000 (3) &x. 4,500 (4) 8. 6,000

27.

While covering a distance of 24 km, a man notices that after walking for 1 hour and

5
40 minutes, the distance covered by him was 5 of the remaining distance. His speed of

walking is
(1) 9 km/hour (2) 6 km/hour (3) 10 km/hour (4) 8 km/hour

24 8.9 &roey (PHBrBoT (EH00s® af $g8 a8 Hob 40 AWTFrew HEDS s,

5
@S5 WADS SrSost 7 Sody &rdo (HABTrBoTdd HdoJowrd. wd J&E fafe)

(1) 9 8d/Ko (2) 6 8%/oe  (3) 10 8d/foe  (4) 8 &do/How




28.

A cyclist reaches a certain place in 6 hours. If he reduces his speed by%th, he goes 5 km
less in the same time. His speed (in km/hour)

af $g8 N8SH (BrBoD, wf (T 6 Jovwed® Tderds. & Hg8 wdd Ty
& Hods EH0BIK0T, ©T VH0H0S® wEl 5 8 $E S (DArBId. wEd THo

(8o/K 06 %)

(1) 5 @) 4 G) 435 4 3¢

29.

Two trains are running in opposite directions with the same speed. If the length of each train
is 100 meters and they cross each other in 10 seconds, then the speed of each train is
(in km/hour)

Tod> B 5g8TE 0FS° 2T DHo& (HSrddoTyon. .88y Tew e 100
N6 God ©d wETIV HGES 10 DEIS &, 2,87 8) DT BE) BHo

(Fod % §e3’5§)oe>§68)
(1) 84 2) 72 (3) 36 4) 32

30.

The distance between two stations A, B is 390 km. A train starts from station A at 10 AM
and travels towards station B at 65 kmph. Another train starts from station B at 11 AM and
travels towards station A at 35 kmph. The time they meet is

A $00805» B _‘fg&é Hogg drdo 390 8.0. ¥ B 'fgﬁl?éo A 358 10 AM& 65 8.9a/K0
BK08  0500To Dl B IH (DBrBE00. 68 Teov whd B &S 11 AMSH
35 8o/Ko D08 CHheoBO VAD A BH (DAT,B000. @) ErHT vHodkho

(1) 2 PM (2) 2.15 PM (3) 2.30 PM (4) 2.45 PM

31.

The number of times in a day, the hour and minute hands of a clock are in a straight line
but opposite in direction, is

w8 8w HAXBrSoSd Hobe LH00%w ddaro Eéoa@;fo@ w8 DS Tt é§@8§
&%e® D) Yo orow

(1) 20 (2) 22 (3) 24 (4) 44

32.

A watch gains 5 secs in 4 mins and was set right at 8§ AM. What time will it show at
9 PM on the same day ?

u¥ T8 H&Srdo (28 Srooth JdaroH 5 DEDo wffonr JSEW0s. I
&$050 8 HowodH VOTD ©T & @ 9 dovodH ©b Wre Bho Hod?

(1) 9:15:00 PM (2) 9:16:15 PM (3) 9:14:15 PM (4) 9:15:05 PM




33.

The last day of a century cannot be

(1) Monday (2) Wednesday (3) Friday (4) Saturday
o> o0&’ D0 B wITIO
(1) &FsoaSo (2) S0 (3) HEado (4) %280

34.

X and Y invest in a business in the ratio 2 : 3. After donating 10% of the total profit to a
school, X gets Rs. 900 as profit. Then Y’s profit is

(1) Rs. 1,600 (2) Rs. 2,500 (3) Rs. 2,250 (4) Rs. 1,350

o mg@vdoé’s X $080%0 Yoo 2 : 3 Dﬁg@@ D & Tagrd. Ingo orefoes® 10 %,
a8 FEToH JoeFonr WS Edhard XE I 900 orgfo SWod. ey YE 50D
oo

(1) &. 1,600 (2) & 2,500 (3) & 2,250 (4) &. 1,350

3s.

Ram and Shyam enter into a partnership. Ram supplies whole of the capital amounting to
Rs. 60,000 with the condition that the profits are to be equally divided and that Shyam pays
Ram interest on half of the capital at 10% per annum, but receives Rs. 150 per month for
carrying on the concern. Find their total yearly profit when Shyam’s income is half of
Ram’s income.

(1) Rs. 10,800 (2) Rs. 8,400 (3) Rs. 14,200 (4) Rs. 12,600
orey Hodadw a"gSo@ wﬁ@séogoeﬁ*‘ Swgo & 60,000 F2H0y o o e & DG
VNS gy DIFSom HoHHTow B0MH TgH Vo D & Nd oo
DodEyordE 10% K)c% ), g 8o SB&D0NI0%0% IJod . 150 @Yoos’a_agéocﬁ,gom
D)oo B8N 8. %”SSJ oo & oo oo &S bio c%:égvégooaé, J"g@i’éoé's
IS Bodo DodEE orgo Hod?

(1) &. 10,800 (2) &, 8,400 (3) &, 14,200 4) 8. 12,600

36.

In a Geometrical figure if radius is 7 units and height is 6 units, match the following
(assuming suitable units and take w = 22/7).

(a) Area of the circle (i) 264
(b) Volume of the cone (i) 924
(¢) Volume of the cylinder (iii) 154

(d) Curved surface area of the cylinder (iv) 308
eSO Deres® o T rdew, 28 6 5rdy 0¥ & (8ob o8
2EDEL0E (DTS dBardd» 80808, T =22/7T ©d 8%58%08).

(a) g Jwrogdw (1) 264
(b)) %0%H DodHoITd0 (i1) 924
(€) [rddn PoIDB BT H0 (i) 154
(d) Prdo S0 Bogo (iv) 308

(a) (b) (c) (d)
(I ay G G ()
(2 G (Gv) (D) o)
G Gv) (@) (D) (i)
4) (i) @ Gy (i)




37.

Match the following

List—I List—II
(a) Cuboid (1) Square
(b) Cube (i1) Circle
(c) Sphere (iii) Triangle
(d) Cone (iv) Rectangle
Bod &8 =8 Tahod

de—I rde—II
(a) &g Hodo (i) €S (do
(b) Hado (i) $ygo
(c) A*Fdo (iil) (SefoesHon
(d) o0& (iv) bG8 (Do

(a) (b) (c) (d)
O Gy G (D)
2 @Gy @ (i) (i)
G @ @ Gy ()
4 G @) @O (Gv)

38.

If the length of a certain rectangle is decreased by 4 cm and width is increased by 3 cm,
a square with the same area as the original rectangle would result in. The perimeter of the
original rectangle in cm is

a8 OHISSE Do Ty FdpHS 4 cm EHod Jdeoyde 3 om DoDE DCSQ&;S
SEE(D STogo, HEISHED ITegos” JLEHrIHDHS08. P SYISE (DD Wowe
Fod 2o.dos® '

(1) 46 (2) 48 (3) 50 (4) 52

39.

Ramu cuts a metal plate into two equal halves. He again cuts one half into smaller pieces
of equal size. Each small piece is of 20 grams in weight. If he has a total of 7 pieces of
the metal, what was the weight of the original plate in grams ?

%0 wf STErR) THI Tody 2% grmreom E800wrd. 80A o B rmrd) DHTD
PO 6O) WI) HE)H oo EB0owrEd. (D8 VI D) WVnE) SR 20 (. oE&
$& Bougo 7 TEH JE) @0 &0, ek EB00WS J&el TS S (.08 Jod?

(1) 140 (2) 160 (3) 210 (4) 240

40.

Two metallic cones of heights 4.1 cm and 4.3 cm and each radius of base radius as
2.1 cm are melted together and recast into a sphere. The diameter of the sphere in cm is

4.1 200.25 $26050 4.3 2o. oo, 2.5 5 a8 2.1 200.30 253“55"5@”%50 EOH wd)
Bodk Y FoHHod E0A0D ¥ AFomr HOTE. o HEY TGO 0.Mos®
(1) 4.2 (2) 4.5 (3) 4.8 4 5




41.

What least number must be added to 2000 to get a number exactly divisible by 19 ?

2000 Domgd @ @@ DI) Dopgd FIVIS HWy Vowg 19 T& T hdwm
A oS 8od0?

(1) 14 2) 5 3) 1 4 3

42.

A DWACRA woman wants to make candles out of a wax block of dimensions 60 cm,
35 c¢m, and 22 cms. The number of cylindrical candles that can be made with diameter
7 cms and height 4 cms is (Take mw = 22/7)

a8 g5t HE 60 200.29, 35 %00.00 $500%0 22 To.dvew &) @ééw@s SIS PIGN
Boﬁrgeéog"él&, 7 200.000 msfozéw $50050 4 0.20© o)é_gé's EYenhrteN Boﬁogfﬂ@ﬁé
%P@"S"d@ §Fgde dowg (T = 22/7e B8 )

(1) 75 (2) 150 (3) 300 (4) 400

43.

Find the greatest of the following numbers
& (800 Dopgedst ©d DY Dopg EHA"Hodw

V5 =3, N7 =5, o -7, V11 -9
(M J5-43 2) J7-45 3) J11-49 @ Jo-7

44.

Five bells begin to toll together and they toll at intervals of 6, 5, 7, 10 and 12 seconds
respectively. How many times they toll together in one hour excluding the one at the start ?

5 oker wBIH (Brddo Bnden DErow. &3 Joben Do 6, 5, 7, 10 H0605»
12 :‘(os’océ §’°§2r©°6 (Bordodo. BndEIr0  (SrAds Bs’zfoaééﬁoo@“’ &0d, 28 Kok
BH005008° @ @bl AT EDD (Bordode?

(1) 7 2) 8 (3) 9 4) 10

45.

In a mixture of milk and water of 40 litres water is 5%. The amount of water (in litres) to
be added to this mixture so as to make water 10% is

e, ﬁ@?o,@ 5O 40 Hug MyFPoos® I8 5%. I8 Lo 10% @Hﬁosci,go 208"y,
fb@’o@ &8 DJL%éJ"Dg Corwod, oirdodd D& Hodrmo (@éagé%)

1 1 2 1
(1) Sy @) 33 3 25 “) 6

46.

The number of integers which are not perfect squares between 16 and 172 is
16" %0050 177 Sogfg B0Urg $$smer 50 Grgroso Howg
(1) 32 (2) 33 (3) 34 (4) 28




47.

The difference between the compound interest and simple interest on a certain sum at 10%
per annum for 2 years is Rs. 631. The sum is

(1) Rs. 63,000 (2) Rs. 63,100 (3) Rs. 63,500 (4) Rs. 63,600

§0d Dy D JeodH 10% S°Hpd Tody DoddyoreH 725L§2§c29 DB s IS
éé@ DG PSo S 631, e Sngo @“éw%

(1) &x. 63,000 (2) &x. 63,100  (3) &> 63,500  (4) &. 63,600

48.

If an amount of Rs. 80,000/- was kept in a bank for a compound interest at the rate of 10%
per year to get an interest of Rs. 16,800/-, then the amount was in the bank for a period of
(1) 1% years (2) 2 years (3) 2' years (4) 3 years

whoo &r. 80,000/- 0 Fend 10% HESE T Sr. 16,800 $& V3o o
wgoéo@% G0VE & DI 2.T°§o§oc’§“S GOWD 5O N0

(1) 12 dodEyoren (2) 2 Doddyoren (3) 2)2 DodEyorew (4) 3 DodEyoren

49.

A person gives a loan of Rs. 50,000 at a rate of 8% per annum simple interest for 2 years
and another Rs. 50,000 at the same rate compounded annually for 2 years. After 2 years the
difference in the amount he gets back is

a8 Sg 8 &om. 50,0008 8% Jrgrde Eé%% 2 Dodgyorod o ywr)dy D000
$:6° 8. 50,0000 ©T Teod Foodd SESGE 2 Dogyored awr)yd. Boé%‘ﬁ@
SShord wEI8 80N $T) Iweods® Fdo

(1) 300 (2) 320 (3) 360 (4) 380

50.

Match the following
A sum of money is lent at simple interest. Then the money gets doubled if

Rate of interest No. of years
(i) 16%% (a) 12'%
(i) 20% (b) 6
(i11) 8% () 5

Bod A0 =EDEF0s
§°0d L0yl reede é%% OPYHIEI0. @ Jngo THoR odws

%8 7o SoDd 8wy Sowg
G) 16%% (@) 12%
(i) 20% (b) 6
(i) 8% © 5

(1) (i) (i)
(1 (@ (b) (c)
2 ( (b) (a)
G @ (c) (b)
4) (b (c) (a)




51.

A motor car starts with a speed of 70 kmph with its speed increasing for every two hours

by 10 kmph. The time taken to cover 360 kms is

(1) 4 hours 20 minutes (2) 4 hours 30 minutes

(3) 4 hours 40 minutes (4) 4 hours 50 minutes

a8 Irerd 576 70 8/do THoE BwdB (98 Todk dovesr 10 8b/do Ty
200 0w0d. & 525 360 8.9 Bror) (oot Ers XD'§ Dd0a%0

(1) 4 oo 20 Jdoareo (2) 4 Kove 30 Jddored

(3) 4 Koveo 40 Jdoareo (4) 4 Kove 50 Jddoren

52.

AB is a straight line. An insect starts from A and moves vertically up through 4 cms and
then horizontally towards right through 3 cms and again vertically up through 2 cms and
horizontally towards right through 2 cms and finally vertically down to reach B. Then the
area of the figure formed (in sq. cms) is

AB 2.8 03 Tp. a8 HSd A H008& 50endd &g gdopom D8 4 200.00 68,
éo@@ 5H8BY §8e ddrodSomr 3 Do.bed E6D éo@@ 8 g o 2 00.Qowo
6O, 800 DAY 8= Jddroddom 2 0.0 6O VLS Bo&8 & Snpom
$80 Bl TF00b. edhypd )¢ D0 BTogin (S8R 0.0od?)

o

(1) 24 (2) 26 (3) 30 (4) 144

53.

A person walks 40 m in the North-East direction and turns 90° to his left and walks 40 m.
Then, he walks 4(,/2 m towards south. Then, the distance between the starting point and
the last point is (in meters)

a8 $g8 Sdg 035 40 Q. Srdsw SAD, 5 JdDo Y 90° 80h 40 o SrIHw
Sdodeko. @Dy S8 OFS 4042 . B SBodr. I&E (EoHoRd Do),
S8E Hro Bd DoddHo Hgg drddw (.08%)

() 0 (2) 60 3) 602 (4) 8042




54.

A person walks in the given directions as follows

(i) 60 m to East ; (ii) then 80 m to South; (iii) then 120 m to West; (iv) then 30 m to North
and (v) then 60 m to East. The distance between the starting point and the last point is
(in meters)

2¥ $g8 (8308 adyd 0¥ o ST E

() 880y OFS® 60 Do (i) S S OFS® 80 Do (iil) e HEBIS BFS® 120 Q.3
(iv) 85500 &g8 04S® 30 Q. H005» (V) wsoddo $rdy 648 60 Jo. Sdoddho.
©d8 I&E (FEoPoDI Dok, I&E Wro B DodHo Hogg drddw (.05
(1) 30 (2) 50 (3) 60 (4) 120

5S.

A person walks 250 m towards East, then walks 50 m towards North, then walks 300 m
towards West. The distance between the starting point and the last point is (in meters)

a8 $g8 drdy 84S 250 . Sy, wdypds wdd 6FST 50 Do, ST dko.
©D W% DELY &¥s® 300 o Qoo @Ed J&E (Jr8oPoNd Dodoy), & o
TS DoddHo Hgg Erddw (0.08%)

(1) 30 () 6042 (3) 10072 4) 5042

56.

A person facing East moves 30 m towards East and then moves a distance of 40 m towards
South and then moves 60 m towards West. How far is he from the initial point in m

Er8o)EH wddoponr wd) HgE Erdy oy 30 i)oéago S&orE Sfwo IPH
40 .00 38D v DEDE JH 60 .o 3ET R BoIE Do) $0d wSTod
Er8os® Goydy (0.08°)

(1) 50 (2) 60 (3) 70 (4) 130

57.

Find the missing number in the sequence 120, 99, 80, 63, 48, ?

120, 99, 80, 63, 48, ? &3 @260@2600@3% S*RoDD :“00995263 EoA° 000
(1) 35 (2) 38 3) 39 4) 40

58.

Find the next term in the sequence 589654237, 89654237, 8965423, 965423, ?
589654237, 89654237, 8965423, 965423, ? ©3F o800’ Hhard Do E508% 08
(1) 96542 (2) 65423 (3) 96543 (4) 65234




Read the following data and answer Questions 59, 60, and 61 :

Out of a total of 35 students, 16 want to study French, 16 want to study Sanskrit and 11
want to study Telugu. 5 want to study both French and Telugu, and of these three want to
study Sanskrit as well. 5 want to study only Telugu and 8 want to study only Sanskrit.

Bod deroddan WaR 59, 60, 61 DFHoH 2ardNg0d :
Sngo 35 Hood &)wg%ﬁomé’s 16 H008 (oW, 16 B0 Dody y&Edw H008d%n 11 Hood
Boory Lo ooty 8. 5 Hod (oW H0dsn Bwods Todr SSrod, 208°
dndady Dody y¥o Erae WS T ®dBowa 8. 5 Hod S Xw’@’eéo LBFTO
a;"Z)"fg, 8 Hood Doy yEo ér@éﬁa BET0 @007 8.

59. Match the following :

List—I List-II
(Choice of Languages) (No. of Students)
(a) Only French and Sanskrit i) 2
(b) All French, Sanskrit and Telugu @11) 1
(c) Only French and Telugu (ii1) 4
(d) Only Sanskrit and Telugu (iv) 3
Bod TG =EDTLod :
o1 eI
(FPRO A Eo) (Rergdoo Bowg)
(a) (0D H0dHH Hody o HrEDo GQ 2
(b) (oD, Dol yfo H005n Ve @) (i) 1
(€) (HoD Ho0dB» Bwady Jr(EDo (iii) 4
(d) D0 y8o 0w Beody Sr(EDo (iv) 3

@ (b () (@
() @) Gv) (@) (i)
() i) @©H G (Gv)
) Gv) @G G) ()
(4) ) @ (D) (1v)

60. Which one of the following statements is not correct ?
(a) 10 students want to study at least two of the three languages
(b) 5 students do not want to study any of the three languages
(c) 4 students want to study all the three languages
(d) 7 students want to study only French
(Bo& ad)d (P¥STes® 6 HO5E?
(a) 10 &0 Dws%ﬁo@o 3 rhed® %o Todo8dar) IS0t 8d
(b) 5 > dargdoen Hordk R oSt D8 Sra SSoedstido B
(c) 4 K8 3)65"5%5003 Qary Pra oy FEQDBT D078
(d) 7 &0 S)cvggae:o (oD SrEo SETroB80005°) 5

(1 @ (2) (b) (3) (o) 4 (@




61.

Read the following statements :

(a) 30 students want to study at least one of the three languages

(b) 20 students want to study only one of the three languages

(c) 2 students want to study only the two languages Sanskrit and Telugu

The correct answer is

(1) (a) is correct but (b) and (c) are wrong

(2) (a), (b) and (c) all are correct

(3) (a) and (b) are correct but (c) is wrong

(4) (a) and (c) are correct but (b) is wrong

Bod (ddVrod WSH0s

() 30 %006 dargdoor BTk PTHodt EAV0 wE)TrATT FET0I0E 00T 8
(b) 20 %08 dargdowd HrEo8S” wg) ol IrED ISroLsHowT) 8

() agd Swsd@bw 000 yE0o 08N Boodd To&o S (S Do FSToB0E 00T 8
ISICHCS SRV IR SRS ALPVRS

(1) (a) ¥BIT 52 (b) LdaSn (c) LOSH)

(2) (a), (b) L0008» (c) Hards HTIS

(3) (a) %0608 (b) ¥TIT 520 (€) L5

(4) (a) $005» (c) DTID 529 (b) vOs°H

The number in the figures in Questions 62, 63 follow a pattern. Find the number in
the place marked (?).

od ad)d 62, 63 (2¥)0 HeHNeS® Jopgwr af EHDEBS® sIyon. (?) ES T 1T
&oa_;g §260§’82ro<%.

313 7158 5141 2189
62. 1515 3| 40 4] 9 5139
(1) 9 2) 8 3) 7 4) 6
418 6112 12136 2120
63. 1515 3 3| 4 2] 5

(1) 16 2) 8 (3) 10 4) 2




64.

A silver cuboid of dimensions 5.5 cms x 5 ¢cm X 4.2 cms is melted to form circular coins
of diameter 1.75 cms and thickness 4 mm. Then the number of coins made from the silver
metal is (Take m = 22/7)

55cms X 5cm x 4.2 cms Sodwn o 2.8 J08& ég D7) 886how 1.75 cms TG00
$005» 4mm  H0d5n Ho HHoesd TBos S0 TG wdpd Fod SEro
508 $35r3S TBo Dowg (M =227 od 308%04)

(1) 120 2) 80 (3) 60 4) 12

65.

A rectangular field has its breadth and length in the ratio 4 : 5. If the breadth of the field
is 20 m less than the length, then the perimeter of the field in m is

5g S8 580 S® &) w8 Podn Vg Vhory, Fdod 4 5 DXZLQ%@SB o).

& POH0 W) Jdeoy FEYH Sx°) 20 m &S @élﬁs, ¥ Podn &) Lok
Fod .ot

(1) 240 (2) 300 (3) 360 (4) 540

The numbers in the following figures follow a pattern. Using this information, find the
number in the place marked (?) in Questions 66, 67 and 68.

Bod ad)d Dedos® Jopges af EHDERS® T )on. & JITTEHN SHTrAD, (B oo
66, 67, 68>s° (?) e Ste 26?30 Somgido §éa§'62roc%.

1 3 A
3@5 1@3 62
8 8 !
4
66. 6—<j:>—3
2
(1) 26 2) 28 3) 30 4) 32
6. @
o
5
(1 3 (2) 4 (3) 5 (4) 6
68. 12
%— (1212
@
3 1
(1) 2 @ 5 G 5 4) 1




69.

Consider the following statements

(a) Any two similar figures are equal

(b) Two circles with radii 4 cm and 5 cms are similar

(¢) A square and a rhombus are similar

(d) An equilateral triangle of side 3 cms is similar to an equilateral triangle of side 4 cms

Which of the above statement/s is/are correct ?

(1) (a) and (c) (2) (b) and (d)

(3) (a), (b) and (c) (4) (a) only

Ss (808 (DdPWarodd H0R8D0F0d

(a) Q@ Tod VEFrD HErBo DITSOM GowTow

(b) 4 =o.o FrgrgHn Hodsw S 200.00 rgrgHn o Todk Hyzreo JEraren

(0) S&oSBBm, B SEoyasn HEPIes |

(d) 3 oo udn Ko K;éow’ﬁ?o (Bghzdn, 4 oo udo do Dioerore
(B80erd8 DI HDIw

D (PIFT0S B/ DTIE?

(1) (a) L0050 (c) (2) (b) 00050 (d)

(3) (a), (b) H0005x (c) 4 (@) %@

70.

Match the following

(a) Mahalanobis (i) oo

(b) Srinivasa Ramanujan (i1) First Indian Satellite

(c) Bhaskara (iii) Number Theory

(d) Aryabhatta (iv) Indian Statistical Institute

Bod B =SErENod

(a) oS00 (i) o

(b) JJ0 ordrdonsS (i) BosS 88 edEEo

(c) =98 (iil) dogrg ™G 952

(d) ©dgae (Iv) 208058 FBRES adPbrgd

(@ (b () @
() Gv) @) @  >G0)
(2) G  Gv) @) ()
() @Gi) @) Gv) ()
4 O G G Gv)




16 '
(x+16)2 » If

i) x#-16, and (i) x> + 32x = 320
(1)

71. What is the value of

16
(i) x # —16, %2805 (ii) x> + 32x = 320 wone (x+—16)2 Qend dod?
1) 36 2 L 3 L 4 L
(1) @) S5 G) 350 4 36

72. The area of a rectangle is 60 sq. units. If the length and breadth are reduced respectively
by 6 units and 2 units, it becomes a square. Then the area of the square (in sq. units) is

o 55g BEE0R) IFogo 60 TS Bardew. ol FER, IO O HEIM
6 G3ord& L0 2 FBorddo e‘é@'ﬁg ¥ 28 JSG(DHYHB0H. WD PKR @ FLI(OY
BTogsn (SSEH Brdes®)

(1) 4 2) 9 (3) 16 (4) 36

73. Consider the following statements
(a) The higher the sun is in the sky, the shortest the shadow of an object on the earth
(b) The shortest shadow of an object occurs at local noon
(c) On the new moon day, the sun and the moon are on either side of the earth

Which of the statements given above is/are correct ?

(1) (a) and (b) (2) (a) and (c)
(3) (a), (b) and (¢) (4) Only (b)

od a{)QSS SRS H0800B08

(a) es*¥os® Jordogdy Do IED GO0W, FradvDd af BV Q& o DI
Goeood

(b) 28 $0H ©8 DI) A& © (FodY Do HHEgdr oSt Ddd0d
(€) odrardgards Brdogis, Fo(Gady Frand BEE IPS wowrdd
DO a0 (DIVTeS® Q0/2D 2TID?

(1) (a) L0050 (b) (2) (a) 0050 (c)

(3) (a), (b) H2805 (c) (4) (b) 25,3




74. The area (in sq. units) of the polygon whose vertices are (0,0), (4,0), (4,4), (2,2) and (0,3) is
(0,0), (4,0), (4.4), (2,2) 0050 (0,3)e0 Rgreom &) T0ghe STogo (FE8H hrdys®)
(1) 11 (2) 14 (3) 22 (4) 30

75. A circus tent is in the form of a circular cylinder surmounted by a cone. The diameter of
the cylinder is 8 meters. The height of the vertex of the cone from the ground is 15 meters
and the height of the cylinder is 12 meters. The area of the canvas required to cover the tent
is (in square meters)
a8 DG dowdo %J“%Dof‘_oa Fo5HYy ), w5 ot &) 6. fgméo W) T°goHd
8 Do, P 008 FoHD) '&a’go W) & 15 Q. Ho80%0 YgJ*’XDo D& 12 Q. Swgo
Bo@ror) D PO @ébd?ﬁoﬁos P30 O30 ST0g0 (5. Q0.06%)

(1) 144 2) 116 m 3) 9% mn (4) 64 m
76. The next term of the sequence 1, 3, 4, 8, 15, 27, 1s

1, 3, 4, 8, 15, 27, ©(EB0S*) S Sowg

(1 37 (2) 44 3) 50 (4) 55

77. Five girls are sitting on a bench for a photograph. Seema is to the left of Rani and to the
right of Bindu. Mary is to the right of Rani. Reeta is between Rani and Mary. Who is in
the middle of the photograph ?

(1) Rani (2) Mary (3) Reeta (4) Bindu

DEHE> @Iy 0o T 800 2 g PG K. o8 JdHy (HED, HoKd
O (DL 2P 00, 0B HA (HES Fob ob. o038 Db Boggd ber woo.
es® 2;606‘55@5*’ GO0 DD8?

(1) o°3 2) 36 (3) ber (4) Do

78. Fill in the blank :
O HrooWod :
CG:HL:: KO:
(1) QV (2) PT (3) RV (4) VT

In each of the Questions 79—84, pick the odd number out (does not match).
79-84 $8& (HH oS S0 Domgd Hafowoke.

79. (1) 282 (2) 364 (3) 4168 (4) 6248
80. (1) 1285 (2) 2213 (3) 3074 4) 4172
81. (1) 1339 (2) 2665 (3) 3991 (4) 4223
82. (1) 11 (2) 246 (3) 327 (4) 464
83. (1) 5 2) 12 (3) 25 4) 36

84. (1) 81 (2) 441 (3) 529 4) 613




In each of the Questions 85 to 90, a sequence of numbers that follow a definite pattern
is given. Each question has a blank space. Fill it by the correct answer from the four
given options to complete the sequence without breaking the pattern.

85 2008 90 S8 do (B8 (HH)S°%o adyd dopgws w¥ Ed0 SFoD VDTV FERT)0%.
(28 BHS%%0 &) e wkoEde AITIE Fodo Ludhor abyd Tl PRVYTPY H00d
$0TRS war o8° Hrootod. .

85. 5, 11, 28, 53, , 175, 296.

(1) 89 (2) 123 (3) 126 4) 152
86. 7,6, 11, 13, 15, 20, 19, 27, 23,

(1) 27 (2) 34 3) 36 @) 37
87. 4, 10, 18, 28, 40, , 70, 88.

(1) 36 (2) 44 (3) 54 4) 64
88. 21, , 55, 78, 105, 136.

(1) 36 (2) 38 (3) 42 (4) 45
89. 3,7, 13, 21, 31, , 57, 73.

(1) 39 (2) 43 (3) 49 4) 53
90. 24, 60, 120, 210, , 504, 720.

(1) 226 (2) 306 (3) 336 (4) 420

91.

In the Questions 91 to 95, the sequence of English alphabets and the corresponding
numbers 1 to 26, follow a certain pattern. Fill in the blank space in each question with
the correct answer from the four given options without breaking the pattern.

91 J00& 95 VEH anyd @Jégpcﬁé wo wEorw N85k E&yo 0sE éosgg@a 1 308 26
ROL, af [E0 Fod ATy FElRIT 0R. (08 B%)S® ey O, wdoEde B8
Fordo Lodgom, adyd el RIP0 $008 H0TRE as® 28 Proowod.

If VEDA’s birthday is on 22-5-41, thén RAGA’s birthday is on

VEDA HgS & 22-5-41 wowd, RAGA HES Swe

(1) 17-1-71 (2) 18-11-51 (3) 18-1-71 (4) 19-1-61




92.

If AZEV : FUJQ, then BYFU :

AZEV : FUJQ wo»€, edypds BYFU : )
(1) GKTP (2) GTKP (3) GTPK (4) PTKG

93.

If AKBAR : 15, then ANWAR : .
AKBAR : 15 ®woxnS, odypd ANWAR : )
1) 11 ) 19 3) 17 @) 21

94.

If ICET : 73, then HBDP : .
ICET : 73 won's, woypdo HBDP :
(1) 64 (2) 34 (3) 48 4) 54

9s.

If FACT : 54, then TAKE : .
FACT : 54 woxs, @Kagocéo TAKE : .
(1) 35 (2) 46 (3) 68 4) 82

96.

In questions 96—100.

In a certain code of the word ‘SAINT’ is coded as 82147 and the word ‘MONKEY” as

364950. Write the code for the following words using the conditions given below :

(i) If any code ends with ‘0’ change ‘0’ to 9

(i1) If no match is found use X

(i1i) If the first digit is ‘0’ replace it by 1

(iv) If both the first and last digits are equal numbers, # 0 and # 2, then change the first
digit to 2

¥ o0 96 J008 100 SS&.

o8 §°6S* ‘SAINT’ o3 HSo 82147 mdo, ‘MONKEY’ o3 Hdo 364950 meds §°&

Dok 83 ol alyd Aol errdomr BHER aMd Soredh §& [F°dhod :

(i) 2 8633 V8 07 oW, & 07 D 9 m HrEyod

(i) 0036 26 BEE X °¢0d
(iii) &S @03 0’ wond od FI08° 1 Eod

(iv) B0c5e3 H$o005» WH0 woBowo, o sE 2 ¥ TT DIrSEN wowd Qopged
wond, ISE @03 §'&H 200 HrE)od

The code for the word INMATES is
INMATES o3 %do T30y, §5&
(1) 1342578 (2) 1347258 (3) 1432758 (4) 1432578




97.

The code for the word YESTERDAY is
YESTERDAY o3 $&o &ooézr §&

(1) 15875XX29 (2) 15875XX21

3)

05875XX20

(4) 15857XX29

98.

The code for the word STALKINGS is
STALKINGS o3 $Hdo aoa§2r §%&

(1) 872X914X8 (2) 87X2914X8

3)

272X914X8

(4) 272X194X8

99.

The code for the word MONASTERY is
MONASTERY o3 %do &oo§2y 88

(1) 3642875X9 (2) 36248750X

)

3642785X0

(4) 3642857X2

100.

The code for the word ASTEROIDS is
ASTEROIDS o3 %o &ooézr §5&

(1) 1875X61X8 (2) 2875X61X8

)

3875X61X8

(4) 278X561X8

101.

The correct sequence of states in which Bandipur, Manas and Pench Tiger Reserves are located

(1) Bihar, Assam, Maharashtra

(2) Karnataka, Madhya Pradesh, Rajasthan

(3) Madhya Pradesh, Maharashtra, Tamil Nadu (4) Karnataka, Assam, Madhya Pradesh

0&YrS, HrIrd 05N DoB PO wFairdergody FOAMNY) Trargo DO (Fod

(1) £%6, oo, BTPoTRY

(3) HGgHTF, HoFPorR, ST

(2) Eoryo¥, HEgHTE, U"&:S“’S
(4) Eoryo¥, w0, HFgHB




102. Match the following

List-I

(a) Methane
(b) Phosphates
(c) Freons

List-11
(i) Knock-knee syndrome
(i1)) Global warming
(iii) Bloom formation in lakes

(d) Fluorides (iv) Down syndrome

(v) Ozone depletion
83 (800 T8 wSNEL0dk

-1 D11

(a) 0TS (i) 3°5-Q 2o& &

(b) Foydeo (i) & & a°030h

(c) (proen (ii1) fodfoo:)@@% Ho02e28 (bloom) Ddgcééao
(d) &TEe (iv) &S Do(&&o

(V) &S dfode
The correct answer is

DOOHS DXorgrdo
(@ (b () (@

() (v) (i) (v) (i)
2) @) @) (v) @)
() () (i) (v) (v

@ v G (v @

103. Read the following statements

(a) Acidrain is caused when sulphur dioxide (SO,) and nitrogen dioxide (NO,) in environment
reacts with water molecules in the air.

(b) The farthest atmospheric layer is thermosphere.

(¢) Western Himalayas are biodiversity ‘hotspots’.

(1) (a)is correct but (b) and (c) are wrong

(2) (a) and (c) are correct but (b) is wrong

(3) (b) and (c) are correct but (a) is wrong

(4) All (a), (b), (c) are correct

s (808 (DIITrod wggaihdo To%0d

(a) TedEnod D K:@@S B3 )6 (SO,) D050 SICRHS Bs3 6 (NO) St
A8 wewdHost WEG VoI ‘e:ség Eégww’ E8o° 0.

(b) wdgod Srdom 0B Teddm FY QSSS&?O‘DOSDg

(c) 9B)%> Wdreodires OISy WEFYE oo

(1) (a) 20030586 520 (b) H00d80 (€) DOPID 57D

(2) (a) H50B0 (€) D0ID 570 (b) DOTHIE 57

(3) (b) £0005» (c) VOTNID 52 (a) VOCPIE 57

(4) (a), (b), (c) ®) HOTIID




104. Which one of the following is not correctly matched ?

(1) Vitamin B, — Beriberi (2) Vitamin B, — Pellagra

(3) Vitamin B, — Loss of appetite (4) Vitamin B, — Pernicious anaemia

S8 (300 wdos® B DOTHHO 5°&

(1) de0d B, — 20820 (2) doDS B, — Do

(3) oS B, — «¥O Lodhotdo (4) dvoS B, — 00050 S
105. What is the function of Plasma cells ?

(1) Antibodies formation (2) Storage of fats

(3) Storage of proteins (4) Vasodilation

FIry Sero A9 QeI ?

(1) (d8 Igscolo Dégdozﬁoéo (2) FHge Aog

(3) (>&doe dog (4) >¥FBTA
106. Read the following statements concerning smoking and identify the wrong one

(1) Nicotine inhibits the functioning of adrenal gland

(2) Smoking causes emphysema

(3) Smoking increases ‘CO’ levels and reduces O, levels in the blood

(4) Adrenal medullary hormones increase the B.P. and heart beat

@ heH Do 0fow & (8ob (DIVTrop ©ggakdo T2 HO5° A #0000

(1) @IS (Hod DD derardy IE°ES J6°9B00

(2) &rdeddo So QoP LT $80y%0

(3) >Herido o Eos® ‘CO’ Hodrmo 0A O, HOIr®O & oo

(4) JBIE P88 Boe0 CF DY), H0T FQES ) Woderow
107. Read the following statements

(a) gﬁ(arlbohydrates synthesized in the leaves are translocated to other parts of the plant through

ylem.

(b) Recombinant DNA is also known as chimaeric DNA.

(¢) Programmed cell death is known as ‘apoptosis’.

(1) (a) and (b) are correct (2) (b) and (¢) are correct

(3) Only (a) correct (4) All (a), (b), (c) are correct

&8 (800 (DIFTrod vigaddo Enfovelete)

(2) HErod® HoFNSHTHY 8 ) (Gdw g add rmred Y o FIrosdH0

Bodosron '

(b) HIboBVr=E DNA o 80085 DNA ©d @ woird

(c) (Perds Formr Seren WIFS@) ‘oPDESVD woerdd

(1) (a) 00050 (b) 80D (2) (b) &850 (c) HODDD

(3) (a) @ HOTHIS 4) (a), (b), (c) ®) HOTHHD




108. Identify the statements from the following which are not correct ?
(a) Lactic acid is an antiseptic
(b) Chloramphenicol is an antibiotic
(¢) Sucrolase is an antimicrobial
(d) Analgin is a tranquiliser
(Bod a&8s® DOODS AHTven 570 &8 HdoKok.

(a) or§§ o0 ¥ SrodHRE

(b) 5§69 IsS a8 drod WrEs

(C) DETE a8 WBro8(8°Do%HS

(d) 9SS a8 (@ro8gBeb

(D) (@), (b), (d) (2) (a), (), (d) (3) (@), (b), (c) (4 (b), (), (d)

109. Which one of the following is a polyester fibre ?
(1) Bakelite (2) Polystyrene (3) Nylon-6,6 (4) Terylene
(Bod o&S® rOTHE I B2

(1) B3EBE (2) 065 (3) Bors-6.6 (4) BoOS

110. The irritant red haze of the eyes in the traffic and congested places is due to
(1) Butane (2) Dust (3) Oxides of Nitrogen (4) Methane

("8 wOED0M 6O 00w wIDWPo B H &) (88003 @33@’@@3% é@?éo@ H00&
@
QBT @8 w0

(D 052535 2) gr® (3) 3&*=s w3 6o (4) DB

111. Metal ion present in Vitamin B, is
Q&AW Blzes*’ o G @ddrs
(1) Fe* (2) Cr* (3) Co* 4) Mg*




112. Match the following :

(a)
(b)
(©)
(d)

List-1 List-I1
Mercury thermometer (1) —200 °C to 1600 °C
Platinum Resistance thermometer (i1) 200 °C to 500 °C
Thermocouple thermometer (i11) =200 °C to 1200 °C

Constant Volume Hydrogen gas thermometer (iv) -30°Cto 350 °C

Bod o8I 2SBDNLo :

(a)
(b)
(c)
(d)

(1)
2)
)
4)

ko | eIl

D8y g0 G HE DrDEd0 (1) —200°C 00& 1600 °C $8%
FEIL0 IEFE s (S SrHES» (i) —200 °C o0& 500 °C $8%
GR TSy Hn eF(HE HrHsdn (ii1) — 200 °C Jo0& 1200 °C $8%
DE HodDHOBTe (@RS TP50D) (iv) —30°C $00& 350 °C 8%

EERES SrHED®

@ ® © @
@) Gi) Gv) (i)
i) i) Gv) ()
(i) Gv) G )
Gv) Gi) () (i)

113. Identify the correct statements

(a)
(b)

(©)

(d)
(1)

Sound waves and ultrasonic waves are longitudinal mechanical waves.

Sound waves are longitudinal mechanical waves and electromagnetic waves are transverse
mechanical waves.

Sound waves are longitudinal mechanical waves and ultrasonic waves are transverse
mechanical waves.

Electromagnetic waves are transverse waves.

(a), (b) only (2) (@), (b),(c)only (3) (a),(d)jonly  (4) (a)only

DTS AdTeed rﬁgoﬁo&

(a)
(b)

(c)

(d)
(1)

$g0 Sdomer 0w w8FI) Somed @éot@gg 05088 EJomon.

$gQ SSomrer wHNBEg Bro(@8 Sdomor H0n gl od Edomen
88gE 5088 SSomen.

B3 SSomrer wHNBYg Bro(@8 Sdomor N0 @8 FIJ Some @655
BSro(®F ESomes.

Ddogdoﬁo@?&oé BZomren @655 SZomen.
(a), (b) &WL@T& (2) (a), (b), (c) éﬁtéfago (3) (a), (d) éﬁ@éﬁ) 4) (a) &m@éﬁ)




114.

What physical property of the following uses non-destructive evaluation experiment to image
defects in materials ?

(1) Sound (2) Heat (3) Electrical (4) Magnetic

& (300 @ F°BY o), (o’ Ho Ereds (H8DoDOT wdTHE Jevden EWE)I
(HTITKH0S® &S ?

(1) &g (2) &9 d» (3) o5& (4) @ddhr)od

115.

Identify the correct statements

(a) Magnetic force does ‘no work’.

(b) Electrostatic charges generate magnetic field.

(c) Ifthe lines of magnetic force are parallel then magnetic field is uniform.
(d) Uniform magnetic field is conservative.

DTS DdGpen HBoWod

(a) ©rpod odn HIToBE .

(b) % D&gorBidne Hod odhdryod F (Es» 88 e

() ®oIpod o T DBT0EE RS wadhI o T ([P 808S° wodkae.
(d) 2868 wohdpod 3 (S50 85830,

(1) (@), (c) (2) (@), (), (d () (a), (b),(c) 4 (), ()

116.

The Intellectual Property Appellate Board (IPAB) has ordered Chennai based ‘Geographical
Indication Registry (GIR)’ to issue ‘Geographical Indication’ tag for basmati rice, which is
applicable to 7 Indian states.

Which of the following is correct ?

(a) These seven states are in the Godavari river basin of India

(b) These seven states are in foothills of Himalayas

(c) These seven states are in North-East of India

(d) These seven states are in South India

(1) (a) only (2) (b) only (3) (a) and (d) (4) (a) and (c)
D& Ho o ESAESSPRS) @%D‘Dég 25)3§ (IPAB) ez (o570 V3315 BWodd 2T[r(dDEd
aoc%?ﬁlSQ 62%%89 (GIR) e éo“g 08 DISgoH 2ABr(ADES Q08 THLS wdo
#2008 HH(EI0 TH00. & H»(E rEETIoST T orargedy $80300

Bod a8S® D& deo

(a) € A% orarged ATrH0 OIS (Fogos® Sop
(b) & Qcko OPEPYOY TP ITrOSrY e Bod o)
(€) & Ak er9or PrESTHOS Y &ES-&THg0S ol

(d) & 2% orargen $8o rEETI0S® Sop
(1) (a) &5 2) (b) 57ED  (3) (a) %005 (d) (4) (a) %6050 (c)




117. Old name of State Bank of India is

(1) British Bank of India (2) Imperial Bank of India

(3) Federal Bank of India (4) EastIndia Bank

RE w508 P K08 HrEZH WH

(1) ©8% wrgof @d rodair (2) wo%d80HS ergof ©d modalir
(3) »&ESS wrgof ©d modadr (4) 6D modasor wrgol

118. NITI Ayog stands for

(1) National Institute for Technical Investigation

(2) National Income Transfer to Individuals

(3) National Institute for Transforming India

(4) National Intelligence Training Institute

NITI &T@rh &I “rA00s

(1) SIS adyBorgd $H6 B8ES adIP0asS
(2) TEIS asgs (P96 @0 10l ErgHS)Y

(3) LSS asyBergd $6 (SyFr00h wod ol
4) Jh3S 2000BI) B9voh FVBerrgd

119. Nirmal Grama Puraskar is associated with which of the following ?
(1) Enlarging Forests (2) Expansion of Industries
(3) Rural Sanitation (4) Rural Electrification
S (o PIIYSdw (8od >8S° TI8 Vo 0HOVIO
(1) wdHo 08 (2) DOFHe 0T
(3) (o FoHEgo 4) (o DSghES

120. Which of the States is not BIMARU State ?
(1) Bihar (2) Madhya Pradesh (3) West Bengal (4) Rajasthan
(Bo& =8s* BIMARU orh90 5700
(1) H5%8 (2) Dogsg (535 (3) v P Borrd  (4) O"’a%(g"’s




121.

Who has won the 2016 William E. Colby Award for best military book ? What is the title
of the book ?

(1) Nisid Hazari —  Midnight Furies : The deadly legacy of India’s partition
(2) Logon Beirne —  Blood of tyrants

(3) Douglas Mastriano — A new Biography of the Hero of the Argonne

(4) Thomas McKenna —  Science and Technology in Military

SEAE RN Qobvd (fogoH aﬁb V000 3 §'0B ward 2016 LoIHSNTBHNIEH IH08
©HoV0d? w PLEo DTMD.

(1) 3528 o0 — & 3§ Grgot & BED THD ¢h w080sr 3OS
(2) &°6°S BS) — & u% Bod)y
(3) &haed Eér?gjo‘éoé’s — Qg a?[jiéop s & 96 oD $ 06T
(4) oD 1B — Q) wo& Byyoz ad owd
122. An irregular occurring and complex series of climate change is called
(1) ElNino (2) Hurricane (3) Tornadoes (4) Low pressure
D08 R D, wdo 63@26 Trerd8en oo & (§od JFom Do
(1) 5 S (2) %0388 (3) &*8& (4) w0y D850
123. Which of the following is/are not correct ?

(a) First Five Year Plan — 1951-1956

(b) Third Five Year Plan — 1966-1971

(c) Sixth Five Year Plan — 1980-1985

(d) Tenth Five Year Plan — 2002-2007

Correct answer is

(1) (a)and (c) (2) (b)only (3) (c)only (4) (a)and (d)
&1 (800 5ot JB/AD SHYP?

(a) BosE Hoddd (Derds stodw — 1951-1956

(b) Sordd oIS (Derdse stodw — 1966-1971

() @8 HoIdg (D5 sPodw — 1980-1985

(d) 585 DoPHg (Derrdse stodn — 2002-2007

DTS Sdrrddn

(1) (a) 208050 (c) 2) (b) s B) (c) & (& (4) (a) %00ck» (d)




124. Economic and Social planning is in
(1) Union list (2) State list
(3) Concurrent list (4) Residual powers
©08 O FEred (Herds whsorw Q NS PoBdSTS
(1) So8 erder (2) g9 @de

3) %éO&& e (4) 0339 odscoren

125. What is the correct descending order of foodgrain producing states ?
(1) Uttar Pradesh, Punjab and Madhya Pradesh
(2) Uttar Pradesh, Madhya Pradesh and West Bengal
(3) Punjab, Uttar Pradesh and Telangana
(4) Madhya Pradesh, Punjab and West Bengal

PSS TH0S® ety TGO H080BE0S® KD (E00S® (AHD L00d) HodoT SREvi SR
fatleYetntete)

(1) &85(©TE, Dowrd $:1005 H&gHTE5

Q) &85HTE. HSgHTF Hodon HIYHBomS
(3) Hoerd, ¢SI(HTEF Lo Swomrm

4) 2604556355, Hoerdd Hod 0w ‘b%aéoaom@_

126. Which of the following Articles of the Constitution can not be suspended during the period of
National Emergency ?
(1) Art. 32 (2) Art. 21 (3) Art. 19 (4) Art. 15
B0 wEeHDY $028 DHoDD 5008 Tergofod™d o 085 Dok Vohadd
QB
(1) =085 32 (2) =085 21 (3) »8&5 19 (4) 885 15




127. Match the following

List—I
(a) Rajoliband Diversion Scheme
(b) Sriram Sagar Dam
(c) Lower Manair Dam
(d) Kadam Reservoir
2B HYBod0

R |
(a) ofeo od Ho9yoR) dLo
(b) Bor0 FH8 @&
(c) &°0%6 %36 @0
(d) $To d=xo°gasd

(a) (b) (c) (d)

1 O (i) @) (1)
(2) @) (1) (i) (i1)
(3)  (@Gv) i) (i) (1)
4 @) (Gv) (D) (1)

List—II
(1) Karimnagar
(i1) Adilabad
(iii) Mahabubnagar
(iv) Nizamabad

eIl
(i) 8603486
(i) wdorerd
(1i1) Sode 05K 8
(1v) derdrerd

128.

Consider the following

(i) Right to Education Act makes education a Fundamental Right
(i) Right to Education Act was passed in the year 2009

(iii) Right to Education Act assured free and compulsory education to the children between

years 6-14

Which of the statements given above is/are correct ?

(1) (i) and (ii)
(Bod asgol H03O0Ldw

(2) (ii) and (iii)

(3) (i) and (iii)

() Qdorg TH) Who ASg (FPNE T EH e (DESoV0H
(i) darg & Lo 2009 boéégéé&aé" W BTPROTE

(iii) 6-14 K)Oéégc"oé{’ Y P0o0s08 DS BB VB0 Vg vErgo Jag

a8y Who (DELBoV0H
D Trged® 26/20 H3TH
(1) (1) So003» (i)
(3) (1) Ho00s» (iii)

(2) (i) $o0050 (iii)
4) (i) (i) %o00s» (iii)

129.

4) (i), (ii) and (iii)

Minimum duration of stay in India before applying for Indian citizenship is

(1) 3years (2) Syears (3) 6years (4) 7 years
DTIAB0o grEE FEHEg0 §EH BP0y WABNOE H00h PrESTH0S® A DoDHEYEHHeD
QDO &odHBl.

(1) 3 JodEyorew (2) 5 JodEyoren (3) 6 Doddyoren (4) T DodEyoren




130. Which state government has launched a scheme titled ‘Ashray’ to save girl child ? What is

the main aim of the scheme ?

(1) Uttar Pradesh  : Providing 200 crores to save girl child

(2) Madhya Pradesh : Providing food and clothes to girl child

(3) Rajasthan : Government to place specially designed cradles in 65 state hospitals
for the safe abandoning of girl child

(4) Haryana : The government to place specially designed cradles in all state
hospitals

‘Wi DRO D088 oBwEH J 0°H90 I vl DEEoD (HTFWGos. T (DS
00 I ?

(1) &g $3F  : wd Pl F§oHedH & 200 ?@263 BE&ronoDod

(2) $ogg (BT 1 o DROH Yo, ¥HFoeD) DHEFE GO

3) O'°&§'°5 D ed Dood WIELomr A& DHEIE 65 (Deddg DG SOy

(HEgEom D00 & oo Doy

4) P orgd Do) (Db sod|Fod? Lﬁaéss’om V00w &I Giddoo bO"’Q@D
131. Arrange the four Buddhist Council meeting places in chronological order.

(a) Rajagriha (b) Kundalavana  (c) Pataliputra (d) Vaishali

& (8oc adg BB FE Do DHrBFH0e 2OAY (HTFH0OD (ER0 Dowpgs® (FahnHw.

(a) ocmdyse (b) Hokowddo (c) edH (d) 3%©

(1) (a), (b), (c), (d) (2) (b), (a), (c), (d)

(3) (d), (c), (b), (a) 4) (a), (d), (¢), (b)
132. According to ‘Arthashastra’ the state is constituent of ‘Saptanga’. Identify the correct one.

(1) Svami, amatya, janapada, durga, kosha, danda and dharma

(2) Svami, janapada, durga, kosha, danda, mitra and kshatra

(3) Svami, amatya, janapada, durga, kosha, danda and mitra

(4) Svami, amatya, thataka, durga, kosha, danda and mitra

@g%’éyo (D5°8%0 ‘Tago’ SIS ©oRI08 & Gotnod. & (80d AS® B DOOHob
(1) Srgad, odrds, Bdnd, od, §%%, Socs Hadosw 15}

(2) g, 2HDHS, S, 84, Sod (g HHOWX» g

(3) g, wdrdg, 25DE, K¢, §°4, Sod D00 (¢

(4) g, vdrdg, S, dod, §%%, Sod Lo0asn (&

133.

Which one of the following texts was known as the Bible of Tamil land ?

(1) Tirukkural (2) Silappadikaram (3) Naladiyar (4) Manimekalai
s (808 a°0S° @ (fogo B¢ (o BOST HOKeBo &0,

(1) 88888 (2) 3¥dvH&s*o (3) Hobasrd (4) HoBDops




134. Identify the wrong pair

(1) Aryabhatta — Aryabhatiya

(2) Brahmagupta — Kandakadyaka
(3) Varahamihira — Brihatsambhita

(4) Bhaskara — Panchasiddantika
&5 (300 aAS° B DOTHD 2B

(1) edgaen — @652;58050

(2)  Sronds — ods°dgE

(3) SFTATE%D — ) 8boT
(4) 20y Socko — Xaoﬁ?o%?o@s'

135. Which of the following statements is wrong ?
(1) The founder of Madyamika School of Mahayana Buddhism was Acharya Nagarjuna
(2) Yogachara School of Mahayana Buddhism was founded by Maitreyanatha

(3) Aryadeva and Buddhapalitha were the followers of Madyamika School of Mahayana
Buddhism

(4) Shantideva and Chandrakirti were the followers of Yogachara School of Mahayana
Buddhism

& (800 mégémo@’s QB HOTOH 57

(1) wordg armrdodody H358A8Td T E Lo B0d08 B¢ gds ?o(g"oé IS LICTESTALIOSRESbRPsS
21%305260

(2) @@oﬁa TPy DoFEAsTD 23‘%553@&;3;60653 Woriferd Pgrod Jro(Rurafodn JPPoTR0
3) e:ség BTHck Lod%w o%ﬁi)*’@éocéa POVPOLTOV AN 23‘%52533@5’820 aﬁrésibé ?og’oé TPO(DT o0
V00N VI*E

(4) =0 8@6@3 D00 0% 7250@5%9 DoHFEARd ﬁ“%ﬁé&ééwé%?\) Brrmroed ?ocg"oéé Eoplel[alaplonobvovben)
0N WIE

136. Name the Delhi Sultan who called himself the ‘Shadow of God’.

(1) Balban (2) Alauddin Khilji

(3) Mohd. Bin Tughlaq (4) Firoz Shah Tughlaq
BT THI A 0 BOpHBY 3O erd H8?

(1) wronS (2) vgrsdsS 9O

(3) o8 OS Hs (4) 28°E ar 1§




137.

Assertion (A) : The arrival of North Indian Sufis into the Deccan in the 14" and 15"
centuries brought deep changes in the political and religious fabric.

Reason (R) : They came to justify Khilji and early Tughlaq invasions of the Deccan
Plateau.
Answer is :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

EBFSD (A) & 14 H0c%0 15 fo0_dwod® 88 rddTH P FGoHos S8 8
(roddndEH orddo Do, B (rod o805 Hod DhSrdoest
SPBS Hrdyes vodFdodarow.

s¥eodnw (R) @ &%) 2P 8 5)@@3 0050 &0 SIS Soddsr@oly drgad ¢o
JAnOT drp FHHer & (Froerds DD YT '

Ddrprdo

(1) (A) %8050 (R) dzo (R), (A) £ 000305 JH5Tes

(2) (A) 00050 (R) Todr Jzzo 520 (R), (A) £ D000 dH8es 52

(3) (A) dzo 5 (R) $dyp

(4) (A) 5y 570 (R) dzo

138.

Assertion (A) : Alauddin Khilji prohibited the sale and use of liquor in Delhi.
Reason (R) : He wanted to uphold religious and moral standards of people.
Answer is :

(1) (A) and (R) are true. (R) is the correct explanation of (A)

(2) (A) and (R) are true. (R) is not the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

eSS (A) 1 Hdgo (EEm) H00d5n ©dys5tebd c;f%‘cf} S80S wgr &QS 5)&2
A HoBl.

8l (R) NS0 &éS 5)@ (Pro W) IS8E Ho00dn HE (DITBRO zégcg
30533&303_ (D08 0T o.
DIFrEEd0

(1) (A) $08052 (R) dz=o (A) £ (R) 900308 28

(2) (A) H00050 (R) Qo 520 (A) & (R) 200305 Qe 5°¢%
(3) (A) Q=0 52 (R) &by

(4) (A) 85y 520 (R) d=o




139.

Warren Hastings’ experiment of auctioning the right to collect revenue to the highest bidder is

almost similar to

(1) Poligar System of Vijayanagaras
(2) Iqta System of Delhi Sultanate
(3) Jagir System of Mughals

(4) Izara System of Mughals

Friveod Soo IV, vdghomr Too FEO 0T H) HIrer DD weTELw avy TS
08 Dgrdsn’ O Dersnds O Gob.

(1) D2cfddd ocwre soodd ‘FBmY Hgd9

(2) @9 o swosrd BT JEHHW

(3) Bosoe stooxed A éséfg’

(4) Bodere sPeoTE RLO® IS H®

140.

The Indian member in Viceroy Legislative Council who resigned in protest against Rowlatt Bills
in 1919

(1) Tej Bahadur Sapru (2) B.D. Sukul

(3) M.R. Jayakar (4) GS. Kaparde

1919 K)OééDéO@s T0& Do ég@ééom Bron FOIH00Ed od ol TD
rEBos Bebgth JHE?

(1) & &8 JHr (2) B.D. %S

(3) M.R. 205886 (4) GS. 5%3_%5
141. ‘Jorwe’ culture belongs to

(1) Chalcolithic phase (2) Megalithic phase

(3) Mesolithic phase (4) Ironage

‘é%ésﬂ 0097 )8 & °0HH TobId

(1) e (do3ee osifo (2) Y5 &ERwe dBwifo
(3) Hogg ord dSwifo (4) a%bs*s cswio




142. Match the following

List-I List-11

(a) Bagor (i) Rajasthan
(b) Langhnaj (i) Gujarat
(c) Bhimbetka (ii1)) Madhya Pradesh
(d) Sarai Nahar Rai (iv) Uttar Pradesh
&5 (800 TP wSDHGo0

eI eIl
(a) &°6 (i) ore o )
(b) ®ohod (1) Koo
(c) S & (i) Hogg (533
(d) dorow SH°E6 ordd (iv) &8 (935

@ b (© @
M @O aG) 3o (Gv)
2 @ Gv) (@) ()
() @) @ (Gv) ()
(4) Gv) @) @G @)

143. Which of the following statements is not correct about the Rigveda ?
(1) Rigveda mentions Varna

(2) Slavery was not mentioned in Rigveda

(3) Sabha the assembly was mentioned in Rigveda

(4) Rajan occurs many times in Rigveda

HTZLENIH D0 050D & (80D TAST O (HBPEH SH P wEYH &od :
(1) "$5gL0" %5000 SHTgEDHH @800

(2) w0 SgH0’ $00D ETgEIN wEYITEL

(3) "0 %000 SHTgSHD D&Y

(4) ‘orad’ o DEsHL HTNIEDHH Tor Dorgahdner D808

144. Which animal figure is not found on the so called ‘Pashupati’ seal discovered at Mohenjodaro ?

(1) Elephant (2) Lion (3) Tiger (4) Rhino
S0t B8t oo )BD DD L& W& D 2o B0y BEY $BL?
(1) Qboct> (2) 2oHdw

() D& (4) 2EBoyHH0




145. Match the following
List-1
(a) Kosala
(b) Licchavi
(c) Vatsa
(d) Matsya
& (800 TP wBDHL W0
eI
(a) §*%eo
(b) OBy
(c) sy
(d) $08yg
@ @® @© @
(D Gv) @ aG) (i)
(2) i) ()  @Gv) (@)
3 @O G G (1)
4 @) (@v) @@ (i)

List-11
(1) Vaishali
(i) Kausambi
(iii) Viratanagara
(iv) Sravasti

R Ao | |
(i) 3O
(i) 8°=~0d
(1) Qored S Hd0
(iv) (@59

146. Read the following

A member of a House belonging to any political party shall be disqualified from being a Member

of House.

(a) Ifheis expelled from the party.

(b) If he has voluntarily given up his membership of such political party.

(¢c) Ifhe votes or abstains from voting against the whip of the political party to which he belongs.

Which of the above statements 1s/are correct ?

(1) (a)and (b)
(3) (a), (b)and (c)
[Bod [HHSHB0es SSodw

(2) (b)and(c)
(4) (a)only

0.8 o808 @°§§ BodI 03 Dgogd (80b é@?géo@eﬁ”s E3 700 JfgEgis wddado

@) T°.

(@) 85 F§ $o0& THYPEEH HTID R
(b) 85 28 H3ByoBom S5O DESD P

(€) &5 3§ 0TS DK HgBTLomr IS JFS® sew IDIdypd Too Agrad

©O00ID P&
D (DB TB0008° B/ Jzo?
(1) (a) $08030 (b)
(3) (a), (b) 08030 (c)

2) (b) $:805» (c)

(4) (a) S (SHo




147.

Assertion (A) : The Parliament is empowered to alter the boundaries of any existing State of India.

Reason (R) : Abill pertaining to the alteration of the boundaries of any State can be introduced
only in Rajya Sabha.

Answer :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct and (R) is not correct

(4) (A) is not correct and (R) is correct

BBFES (A) @ THoS® &I8S® do @ o°hy DOTroFo BT WS Pl
Jodo.

s¥edn (R) @ oog9 S0Erdods $r0) Deods THoo orag DFS'T (DD DI T,

Ddrgrdo
(1) (A) $005» (R) @ Bodks Jzo 00050 (A) 8 (R) $0005 5T es

(2) (A) 200050 (R) @0 Bodr Jdzo 5220 (A) 8 (R) 0000 DH8er s°¢h
(3) (A) d=o (R) 8Dy
4) (A) &5y (R) Qo

148.

Read the following

(a) The provision of All India Services are explicitly stated in the Constitution of India.

(b) The provision of National Development Council is not stated in the Constitution of India.
(¢) Stamp Duty is levied by the Union, but collected and appropriated by the States.

The correct answer is

(1) (a) and (c) are correct but (b) is wrong

(2) (a), (b) and (c) are correct

(3) (a) and (c) are wrong but (b) is correct

(4) (a) and (b) are correct but (c) is wrong

808 (HHST oD SEHdw

(2) ©o gy Vogoe I ofdwr grdd crergodod® vyhom BE YT

(b) w@oﬁr@égg $08O (HFHS 8 orergofod® B

() JroD Cé?géﬁ’@ Bo(&o V0, S ISSIEVAIEVIRNRRbICN THED Db@rﬂoﬁoé’%ﬁog
DTV w2

(1) (a) 28052 (¢) dz=o 52 (b) SHy

(2) (a), (b) L00605xn (c) @ Jdexo

(3) (a) H585» (¢) @0 By 57 (b) 2dy

(4) (a) $2005» (b) @ 2dy 570 (¢) Dy

149.

Conventional energy source is

(a) Solar energy (b) Wind power (c) Bio-gas (d) Nuclear power
JPO(DTPAL FOFD HIHE wrrddw

(a) dordg 4§ (b) D55 %8 () OBor-rrgd (d) weo %8

(1) @ (2) (b) G3) © (4) (d




150. Who among the following Presidents of India was associated with the Trade Union Movement in

India ?
(1) V.V.Giri (2) N. Sanjeeva Reddy
(3) Zakir Hussain (4) R. Venkatraman

T8 TR 9HHOS” 52038 GlgEred” Ho oo o
1) 2.9. 86 2) 35. bodd B@
(3) =G T3S (4) 5. Sogwords

151.

The following states share border with Uttar Pradesh

(a) Punjab (b) Rajasthan (c) Chattisgarh (d) Jharkhand
Correct answer is

(1) (), (b), (c) and (d) (2) (b), (c) and (d)

(3) (a)and (d) (4) (a)and (c)

(Bod IS° 88 (HTFE 0 Ko oargen I 2

(a) Doerd (b) O"’?S:S"’S (c) é%iéag (d) wgoé
DTS Jddrgedo

(1) (a), (b), (c) ©005» (d) (2) (b), (c) %2005 (d)
(3) (a) %2005 (d) (4) (a) $005% (c)

152.

The state having largest area of forest cover in India is

(1) Madhya Pradesh (2) Assam
(3) Arunachal Pradesh (4) Haryana
PESTH0S® wdshE DuPo wEHw Ho ovh9o

(1) Sogg Bk (2) oryo
(3) @&erSS (HTF 4) Sorgs




153. Match the following

List—I List—II
(States) (Boundaries)
(a) Tamil Nadu (i) Maharashtra, Karnataka, Odisha and AP
(b) Tripura (i1) Pakistan, M.P., J & K, Haryana & Rajasthan
(c) Punjab (ii1) Bangladesh, Mizoram
(d) Telangana (iv) Kerala and Karnataka
2B DIoWIdw
eI Akl |
(o°9e2) (S8 Gowd)
(a) STk (i) $o550°09, o0&, 2@, wo(§ (TF
(b) (@D (i) 8IS, Hogsg (535, wdor) ©ok 9%&5, Gromgd H00d50 va@;S
(c) Hoerd (ili) omBdF, weto

(d) Bworres (iv) S8¥ D005 oo ol
The correct answer is
TS BIFEHB0
(a) (b) (c) (d)
(H av)y @) () (1)
2 @ (i) (i) (@)
(3) (@v) (i) (i) (i1)
@ @ (i)  @(v) (i)

154. Read the following
(a) Tropical forests are found in Andaman and Nicobar Islands
(b) Monsoon forests are found in Shiwalik Hills and Chotanagpur plateau
(c) Hill forests are found in Southern India and Himalayan region
(d) Tidal forests are found in Central India
Bod (DIUWIdnen LdoHDdm
(a) &% Hodo wdH OEIrS 0N I8 HHeS® EJyFrow
(b) SgrsroD wdHes 3708 Sodes 000 TPer TEYPE DD (oo EJyJow
(c) B8o r88THo H0B» WIredhH (Frosrod® DELE (rod @dH©IT7) 0w
(d) oo 8D wdHow Hgg EETFoS® soyon
Which of the above is wrong answer ?
= @éﬁééweeﬁ% NI EDy
1) @ 2) () 3) (© ) (@




155. Assertion (A) : A rapid growth in population has been recorded in census since 1921.
Reason (R) : India’s death rates declined gradually since 1921.
Correct answer 1is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true

B8FES (A) @ 1921 marye BE o wESH 508 rdSBI0S® @8 BPoDod warer
$Y8 JIJrBIG.
8% (R) 1 1921 Jod8 80 $8H5°¢ rdETH0S® Hodere T (Hom SHod.

DTS DIrerdH

(1) (A) %0052 (R) @ Todks Jzo 08050 (A) 8 (R) $0005 5T es
(2) (A) 00050 (R) @0 Bodr Jdzo 520 (A) 8 (R) 0000 2H8en s°¢%
(3) (A) d=o (R) &2y

4) (A) &5y (R) deo

156. Which of the following regions is first affected by the south-west monsoon ?

(1) Kerala coast (2) Coromandel coast
(3) Himachal Pradesh (4) Bihar

S8 wHdITe Tdd & BTY/(Fosel) EHT 0w ?

(1) 26¢ 8o (2) s*sHo08d 8o
(3) WIrSS (HTT 4) H5%86

157. Assertion (A) : West flowing rivers of peninsular India have no deltas.
Reason (R) : These rivers do not carry any alluvial sediments.
Correct answer 1is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true
PSS (A) : 8 ésé§©ao@£ DEDE BH (DIT0T o Byren BH.
8ndn (R) @ & 3o Jorod 2o 9dFarod IrosED.
VB VI Id»
(I) (A) $86050 (R) Bods Jzo H0005» (A) 8 (R) ©0 000 dd8e
(2) (A) 005w (R) Todko dzo 520 (A) 8 (R) S80S DHes 525
(3) (A) dz=o 52 (R) 8y
(4) (A) 85y 570 (R) dzo




158. Match the following

(a)
(b)
(©)
(d)

List-1
Banihal pass
Rohtang pass
Niti pass
Nathu La pass

& (800 70D aEHGHDoDD

PEATAECRR |

(a)
(b)
(c)
(d)

D& D
e doh 25
e 5
S I

Correct answer 1is
DTS DXrerdo

@ ® © @

List-1T
(1) Jammu & Kashmir
(i1) Himachal Pradesh
(i11) Uttarakhand
(iv) Sikkim

eIl
() =doy & ?%&5
(i) WSS (9TF
(i) sdorpob
(iv) 280

(I Gv) @) G) @)
2 @O G) () (1)
(3) @Gv) @) @ (D)
@ (@© G (@v) (i)
159. Assertion (A) : Major Industrial regions of India have developed in the immediate hinterland
ports of Kolkata, Mumbai and Chennai.
Reason (R) : The ports provide access to the raw materials available in the hinterlands of

these ports as well as to the world markets.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false
(4) (A)is false but (R) is true
PEFES (A) T ESTF0S) 55, HwoBon $rOTkw B3, & THOH sH &)
PRE (Frozrod® ﬁva@vé)oé @"O@’m 2o ©DE)RWoTTow.

& 68 THo S FPRE (@Fozrod® 0oBd Hud HEHol Fodw s
5000 (Do HrT) o VIS wdoHm &I°)0®.
(1) (A) $005» (R) @ Bodks Jzo 08050 (A) 8 (R) $000d 5 es

(2) (A) 200050 (R) o0 Bodr Jdzo 522 (A) 8 (R) 0000 2Hen s°¢%
(3) (A) dzo 52 (R) &by
(4) (A) 5y 50 (R) dzo

s*8eado (R)




160. Match the following

List—I List—II
(a) Manganese (i) Madhya Pradesh
(b) Nickel (i1)) Odisha
(c) Lead-zinc (iii) Rajasthan
(d) Asbestos (iv) Telangana
238D B0Wobdw
eI eIl
(a) Srorddo (i) Sogg (HTF
(b) IS (i) 28
() 0%dw-z=o8 (iii) o= =S
(d) sy T (iv) Boomen

@ (b (© @
(H @ G G (Gv)
2 Gv) @) (D) (i)
3 @ (i) (i) (iv)
4 GaGvy @G G ()

161. Which one of the following is/are primary economic activity/activities ?

(a) Transport (b) Communications (c) Mining (d) Farming
Correct answer is
(1) (c)and (d) (2) (b),(c)and (d)
(3) (b)and (c) (4) (a)only
Bod TS DB Hrdd (P EB0E @gé sedg8orare $3HB8E [okhEod?
(a) e (b) §ém§§0§&€§o (c) Ko (EDHg80 (d) SgdJraso0
ISECESERSEsS A appeTel
(1) (c) H280%x (d) (2) (b), (c) 00052 (d)
(3) (b) 00050 (c) 4) (a) dr-EDo
162. Which of the following are the chief sources of hard wood timber ?
(a) Broad leaved evergreen forests (b) Broad leaved deciduous forests
(c) Evergreen coniferous forests (d) Needle leaf deciduous forests
Answer is
(1) (a)and (c) (2) (a), (b)and (c)
(3) (a)and (b) (4) (a), (b), (c) and (d)

(Bod oAS° T 00d (derdom HE Sod 0otdn?

(a) VEory8 sHod o DEET0E wdHod

(b) Vo8 eHew do @s’oU"éQ ¢ Ry

(€) HESH0S FjomsED wiEHo

(d) 500 Bod 58y wdHeor o wEHTDB) wdHeo

DTBS = 9

(1) (a) H080%2 (c) (2) (a), (b) H0005» (c)

(3) (a) H00805x» (b) (4) (a), (b), (c) H00605» (d)




163.

Consider the following crops

164.

165.

(a) Cotton (b) Groundnut (¢) Rice (d) Wheat
Which of the above are Kharif crops ?

(1) (a)and (b) (2) (b)and (c)

(3) (a), (b) and (c) (4) (b), (¢) and (d)

(Bod Hovod HOIO0LHN

(a) & (b) TEo¥3K (c) dasgo (d) A*Sodoen
2 58S D 26D Dowen

(1) (a) %8030 (b) (2) (b) H20052 (c)

(3) (a), (b) L0005 (c) (4) (b), (c) H000%» (d)

Which one of the following shipyards makes warships for Indian Navy ?

(1) Vishakhapatnam shipyard (2) Kochin shipyard

(3) Mazagaon shipyard (4) Paradeep shipyard

P88 TEeed8 SIS dng el Saird T IseHokho

(1) Jarpdge I°se(¥o%0 (2) &S Ise(¥0%0

(3) Sommrs Is°(Fod0 (4) >3LD Js°(Fa%o

Who among the following tribes live in the Union Territory of Andaman and Nicobar Islands ?
(1) Apatani (2) Munda (3) Santhal (4) Jarawa
(Bod BPID @ Bfen So(d O (oI ©odHrS-I5° Tod® NI ?

(1) o5 (2) S0o0dk 3) Do (4) =oae

166.

Which of the following is not an objective of Swachha Bharat Mission ?

(1) Hygiene (2) Waste management (3) Sanitation (4) Beautification
(Bod ES® DB BNy EE WIS vFgo 5
(D 6:95555 ) (2) $gY VI e 3) FoHgo (4) 00868808 %0

167.

Read the following statements

(a) Infant mortality means the death of a child less than one year of age.

(b) lljnllftaglt mortality is the number of deaths of children under one year of age per 1000 live
irths.

(¢c) Poverty of the family is the only factor, that contributes to infant mortality.
Which of the above statements is/are correct ?

(1) (a)and (c) (2) (b)and(c) (3) (a)and (b) (4 (a), (b) and (c)
[Bod [HBHSdR0e $rHw

(a) % Hderes odm HodS o YroseHoms 3HH HdBosdo

(b) 1000 zdzros® boéégéoeﬁg@ FAT00d Dy Doy egrdomr 3H Hdsro Dopgdo
Qg o8>

() %o 2E0E0 e T 3H HwrodH s°Emo

D (DB EB5008° B/ Jeo?

(1) (a) So80%x0 (c) (2) (b) H000%» (c)

(3) (a) $0803» (b) (4) (a), (b) 0005 (c)




168. Match the following
List-I
(a) Golden Fibre Revolution
b) Gray Revolution
¢) Pink Revolution
(d) Black Revolution

2BEDHBk0

(a)
(b)
(c)
(d)

2)
(3)
(4)

Al |

oy % QRD0
RS Soid SESESTS)
$owrd ok dYD0
S0y JdVHo

@ 6 ©
1 111 11 1
O
(i)  (1v) (i1) (1)
v G @ )

List-11
(1) Fertilizer
Eii) Onion
iii) Petroleum products
(iv) Jute production

eIl
(1) ABHed
(i1) &Qarcioed
(iii) oaLeS%é)oﬁoo ERRESEY
(iv) % 838

169. Match the following

List-1
Zamindari system
Drain of wealth
Mahalwari system
Rythwari system

2BDBH0

(a)
(b)
(c)
(d)

a1

2BAOTO S Hw
(Do §do0 FSE0
oG Sard KJCSEB

@80 cod@

@ O © @

(1) (i) (v) () (i)
(2) (@ (@) (@) (v)
(3) (v) (i) (i) (i)
(4) () @v) (@) (1)

List-I1
(i) William Bentinck
i1) Thomas Munro
ii1) Lord Cornwallis
iv) Dadabhai Naoroji

eI
(1) JO%e 2o’
(i) %% K&
(iii) o8 56 0D
(iv) ororeron I°6°e

170. Consider the following statements about key features of ‘100 Smart City’ project

(a) Automatic traffic signals

(b) Better public transport facility

(c) Face identification system to catch criminals
Wh1ch of the above statements is/are correct ?
(1) (a)on

3) (a ancfl (b) only

(Bod (DDHWIL0en $0300odm

100 w0l Bod Sore’ (BE dopg of mren

(a) Dgosoo SOE (rHE Jd%o(Ee EOA sodbo

(b) &S0Rd Lzéwdmea 3”56"5@0065@0

(¢) 56@0@260 %003 B $00R HgHHo LOA wodwo
2 L@ézﬁzééooeéé T96/99 dmo?
(1) (a) Joo(EFo

(3) (a) 20005 (b) Hr (&0

(2) (a), (b) and (c)
(4) (b)and (c) only

(2) (a), (b) %0805 (c)
(4) (b) 200030 (c) B (EDo




171. Read the following statements
(a) The first hour of every parliament day is reserved for questions
(b) Zero hour is a typical Indian innovation in the field of parliamentary practice
(¢c) Judicial control over administrative acts stem from natural law
The correct answer is/are
(1) (a)is correct, (b) and (c) are wrong
(2) All(a), (b) and (c) are correct
(3) All (a), (b) and (c¢) are wrong
(4) (a)and (c) are wrong and (b) is correct
(Bod (HHEIHwen WekDm

(a) (98 &% FEF0E i ok Hdodso LXD%’SQve_ﬁ;dZéooe 5% Berowod &od
(b) FEPoowd Fodrrdired® rddts Jogmn e de Hrdg oo (&8 wdb)
(€) 5°8gRBZTE LEgo D T°gad VS0 dIre J*gaho H0d HVYI
ISHSRSERSPSSAIALINENES

(1) (a) dzo 572 (b) 2005w (¢) @0 SDy

(2) (a), (b) $26030 (c) oo &95; dezo

(3) (a), (b) $06030 (c) oo @5; S0y

(4) (a) H035» (c) @ Dy Hdasw (b) deo

172. Supreme Court of India enjoys the power of ‘Judicial Review’, which means the power to
(a) Review the judgements of State High Courts
(b) Review the functioning of the Council of Ministers
(c) Advise the President of India
(d) Decide the constitutionality of an Act passed by the legislature and order of the executive
Correct answer is
(1) (a)and (b) (2) (b)and (c) (3) (d) only (4) (c)and (d)
8E o200 B ‘Trgoh DWE @i5e o) £8A ¢0d. T°g0H Dabf @dm

(a) o@y :’_mgsé@ @60‘3@260 DAWg ot do

(b) $90(@%008O oo VG oWEo

(€) 2788 07988 JoP® adgdo

(d) 708 T°p @TrHoVI FYr e, 5°EZAT T E TP T3 orezrgod c‘éﬁézéo EVISTRRICENSTCY
ISHSRSERSPSSAIALEVEVES

(1) (a) 08050 (b) (2) (b) %9808 (c) (3) (d) S-S (4) (c) H2603» (d)




173.

Which of the following pairs is correctly matched ?

(a) ADM Jabalpur Case :  Rights of Citizens under Emergency
(b) Vishaka Case : Centre State Relations

(¢) Indira Sawhney Case :  Rights of Women at work

(d) Kartar Singh Case  :  Rights of Minorities

(Bod &°S® $TH 28 26?2

(@) 2.8.08. = SHE e gH0 D odghdd 536?38 DHOND DHoos® Y SRS RCH
(b) Dz sregdo . Bo(8 o°R9 wo ogren

(c) mobo DI Fregdo DB (HTH0S® ST ToEHy oo

(d) o6 Doh aremgdn : Boarodo [SEESYROY

Correct answer is
$BD Ddrrddm
(1 (@ (2) (b) 3) (© @ @

174.

Consider the following statements

(a) The First National Commission for Scheduled Castes and Scheduled Tribes was constituted
in the year 1992

(b) First National Commission for Scheduled Castes and Scheduled Tribes was constituted
under 65" Constitutional Amendment Act

(¢) C.H. Hanumanthappa was the chairman of the First National Commission for Scheduled
Castes and Scheduled Tribes

Which of the statements given above are correct ?

(1) (a)and (b) (2) (b)and (c) (3) (a)and (c) (4) (a), (b)and (c)
Bod (HdSHEDe HOIDOBRD

(a) DS &k NErgS Horoy H0B» NErgS Bio Eh S 1992 (“oozéébdéoaé{’
Aoy By Bod

(b) 6535 orwrgod VHIew wrgor Bl 28 0% RErgS Hore HHOBn wdrgd SHo
RS Aoeyeo Bk God

(€) er80% drgd Hore H0BH WErgd BHe EWHHS INEE S . WS,
S B0B0ED)Y

23 ad)d (HBVII0eS® 0 DT

(1) (a) S08050 (b) (2) (b) 00050 (c)

(3) (a) H0805x» (c) (4) (a), (b) L0005 (c)




175. Consider the following statements
Proclamation of ‘State Emergency’ under Art. 356 can continue beyond one year if
(a) The High Court of the State certifies that the situation in the State is very serious.
(b) The Governor of the State certifies that law and order situation is not under control.
(c) The Election Commission certifies that it is difficult to hold elections to the Assembly.

(d) The President is satisfied about the grave situation in the State through independent
investigation.

Which of the above statements is/are correct ?

(1) (a)only (2) (b)and (c) (3) (c)only (4) (a)and(d)

(Bod (HHWddwen HOZOO0WH0

‘@Qé@ 356’ (ds80 ¥ Té}jo& @égéfocﬁ Kaé?@o@@ 2.8 DoDENEHD oW Ao 00

(a) & 0"H908° (XD H0P ST © R %r8°C ol SIINIGRE

(b) 0% 908° 708 FSFe BSHHS® TIJ HHEY6 Igr00LHBL

(c) & T‘é)ljoé’s @?ooé:,) d Eoo Vg oWEo §§)1éof0. AL D00 VgT80WH Bl

(d) dgEo(& HOFED S JOLNCTCRISHISOR U"Zwajoé's @Léé@?géo@o ?é@?ﬁéavioﬁa@ oCR9DS
D0o&ND TodH Bl |

D (HIBId00S® D0/2D dwo?

(1) (a) S8 (2) (b) L0005 (c)

(3) (c) dr&0 (4) (a) $060%» (d)

176. Which of the following is not correctly matched ?
(1) Lambadi Hakkula Porata Samithi — Bellaiah Naik
(2) Gouda Jana Hakkula Porata Samithi — Elkakatte Vijayakumar Goud
(3) Vaddera Hakkula Porata Samithi — Dubbagatla Narsing Rao
(4) Chakali Hakkula Porata Samithi — Poosapally Saidulu
& (808 IS° O HDOTD @d 5%
(1) voerd & o JFord V& — Boddg o°as
(2) A& 25 o Ford VWS — JoEY JudHdrs 776
(3) $BI Ty o Ford DN — & A SdyoHdorD
(4) o8O ¥y o Ford VB — YO oo

IS 2016 D 49 G



177. Match the following

(2)
(b)
(©)
(d)

List-1
9t month of Islamic calendar
Moharram

10th day of 12th month of Islamic calendar

Milad-un-Nabi

S8 (8080 & wBHTHosw

(a)
(b)
(c)

(d)

(1)
2)
)
(4)

Al |

ag s 9560655 6”8)0&6326 519}

S (8o

QI 0§ 51’560655 SATSIEES
S HES P

DorE & I

@ (® ( (@

i) (D (@Gv) (i)

(i)  (v) (i) 6))

1 (@Gv) (@) (i)

@v) @) (@) (i)

List-11

(i) Prophet Mohmmad’s birthday

(i) Bakrid
(ii1)) Ramjan
(iv) Shiyas

At | |
() B8 (93F =d3630
(i) (8&

(i) SoerS

(iv) 2osen

178.

Match the following

(a)
(b)
(©)
(d)

List-1
Mannemkonda Jatara
Durajpally Jatara
Siddulagutta Jatara
Singaraya Jatara

Ss (8080 FrE BT

(a)
(b)
(c)
(d)

(1)
2)
)
4)

eI

SIS )o8%o & s Y
$oeEDY 2SS
Voorh wrEs

oK Tor0d e

@ ® (© @
@) @) @G @Gv)
(1)  (@(v) (i) (1)
@v) (i) (i) (1)
(1) (1) (v) (i)

List-11
(i) Laxmi Narasihma Swamy
(i) Siddeshwara Swamy
(ii1) Anjaneya Swamy
(iv) Lingamanthula Swamy

D1l
(1) @é& SJCRSISRSAESII I
(11) ?o@%scf@vsé’)o
(iii) woeTo%drgdo
(iv) ©odHoodoogan




179. Match the following

List-1 List-11
(a) Ramlingeshwara Temple (i) Dichipalli
(b) Erakeshwara Temple (i1)) Kondaparthi
(c) Sita Ramaswamy Temple (ii1) Pillalamarri
(d) Venugopalaswamy Temple (iv) Nandikandi
& 1808 TG wEDHGHWHD

eI rde-I1
(a) Wéo@o?g-‘ésd B©O30 (i) &0
(b) 035_55?3’56 $© 030 (i1) 8§°0&kDd
(c) gg’o@l’c":ﬁo@“‘g&) w0500 (iii) D ©H(0
(d) S’ FoIgd wooso0 (iv) $06%08
@@ b (© (@
I Gv) G) @ (i)
(2 G @ G (1)
(3) Gv) @) (@) (i)
@ (@O @) G (1)
180. Match the following

List-1 List-11
(a) Dimsa (i) Babban Khan
(b) Adrak ke Punje (i1)) Gonds
(c) Perini Dance (ii1) Fastest dance form
(d) Pittala Dora (iv) Budiga Jangalu
& 1808 D wBDHLWoDH0

R | eIl
(a) oo (1) NS
(b) »&5 B vo= (i) &Poddoen
() 203 @) (i) SHB0SZd Sysgshn
(d) 2bo &Y (iv) o&% womren

(1)
2)
)
4)

@ b (© (@
i) () i) (iv)
@ G) G (1)
i) (@) () (@v)
(v) (i) () (i)




181. Match the following

List-1 List-I1
(a) Goreti Venkanna (i) Ayyoniva Nuvu Avvoniva
(b) Nandini Sidha Reddy (1)) Amma Telanganama.....
(c) Guda Anjaiah (ii1) Palle Kanneeru Pedu Thondhi
(d) Gummadi Vittal Rao (iv) “Nageti Sallalo Na Telangana.....”
Ss (8080 A wSEDHSTL0
eI a1
(a) A°3Te BEEESH () ©0Wrgdd S0 @SSSEOES
(b) 308 2g° TS (i) odry SvomrendHr)y...
(¢) drd wowmdlg (iii) &9 S’Ef)gf.ﬁo D& 0d
(d) %38 S oo (iv) “=ne @%@25@@5’5 S Bwomrs...
@ @® © @
(H @®  @Gv) () (i)
(2) i) (@Gv) @@ (D)

3)
(4)

vy (@ (D) (i)
(i) (i) @) ()

182. Arrange the following statements in a chronological order

(a)
(b)
(©)
(d)

Declaration of K.Chandrashekar Rao Fast unto death.
Telangana March to Necklace Road.
Prof. M. Kodand Ram was nominated as convenor for Joint Action Committee (JAC).

Suspension of Telugu Desham Party from Joint Action Committee.

Ss (8080 & (Blorlothemone @éoé})oc%

(a)
(b)
(c)
(d)
(1)

)

3. FodREE o°d) wdodn JETESRE (D8I

3ES 6°6 8 Boomrm 76

(& §°Sodoro wrowod sES S8 (JAC) 8g335m Q0srH8shn
@000d wES EwE o0& Boah THo > RS

(a), (d), (b), (¢) (2) (@), (c), (b), (d)

(b), (a), (d), (¢) 4) (a),(c), (d), (b)




183. Match the following

(2)

(b)
(©)
(d)

List-1
My Telugu Roots : Telangana
State demand — A Bhasmasura wish
Battleground of Telangana
The fall and rise of Telangana
Telangana—United Andhra Illusions

&s (800 G wBHBHkW

(a)

(b)
(c)
(d)

(1)
2)
)
4)

eI
30 By Er&y : Boomrs W&
ABr0&-Q FI s IR
wgéf)’e’i_ [Fo& ©3 Bwores
& S ®obh TO © SBwomren
Boomrn-BSNIVE wo(§ avagel)
@ ® (© @
(v) @) @ (i)
@ @G @) @[v)
i  (@Gv) (@) (i)
@av) @) @) 1)

List-11
(i) Nalamotu Chakravarthy

(i1)) Gautham Pingali
(ii1)) Venugopal
(iv) Kingshuk Nag

Re-11
(1) So3rd FES0

(i) Ao oK@
(iii) Sef*drS
(iv) 80H%0E oA

184. Which one of the statements is not correct ?

(1)
2)

)
4)

Article 371-°D’ facilitated for the Zonal system in Andhra Pradesh.

Jayabharat Reddy Committee was appointed in 1984 to enquire into the irregularities under
the six point formula and Presidential order.

Kamalanathan and Umapathi Rao were the members in the officers committee.

Abdul Khadar, a senior I.A.S. officer was appointed in 1985 to scruitinize the officers

committee report.

&5 (800 TEGHNOS® A0 HOTHID
(1) ©9&S 371 '@ (95785 wo(§ (HTITS® &°IS HgHY Dovew ©owod

)

3)
(4)

e Vor@re DEEo Ho0ddw O'“‘é)lj‘é)@ &g 8800 GOOPIIL dwrdn BOs0eE ©0(8

($3% (Bgh&gdn 2dderds TG 268 1984¢% DosoboNod
EHhoorEe 500050 &ITrH8T ) ‘@%3705(3 E0e3’s? dghgeo

©PH5Y EWE ©000DD ITHEL HOZO0BI0E 19858° & o8 i o 26
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185. The limited safeguards of employment under mulki would remain in operation in the Telangana

Region upto the end of December 1980. In the case of Hyderabad and Secunderabad these

safeguards would continue only upto the end of December 1977. According to

(1)
)

Six Point Formula

All Party Accord

(2) Eight Point Formula

(4) Five Point Formula

&g Sofos® Boomn (Foaedd $d) Erdod® EOyo% ¢ SEmen 1980 o & &rbo

DHO H8% wdoens® soeran. 529 231656"25"5 00050 D8o(merd wob SYefet eSOk oo (B0

©@d 1977 &0 § Hrdo DHO HBH Ir@EDD whend® sotran o BOD HE¥o

(1) &8 drere DEEo (2) of g vELo
(3) vPo DE avyodo (4) Doddrg Do
186. Match the following
List—I List—II

(a) Metpally (i) Bronze works
(b) Pembarthi (i1) Khadi
(c) Gadwal (iii) Bangles
(d) Hyderabad (iv) Handloom Sarees
S (8080 I 2BDIoiodw

R | eIl
(a) LD (1) 186 5
(b) o o (i) &
(c) Hdargen (1ii) mrereo
(d) ZrSoerd (iv) S3& DS

(a) (b) () (d)
(1) (i) (1) (iv) (i)
(2) (@Gv) (i) i (i)
3 O @ G ()
4 @)  @Gv) () )




187. The Government of India appointed a committee under the Chairmanship of A.K. Anthony
to look into the issues concerning the proposed division of Andhra Pradesh State and to
workout the modalities related to the division. The members of the committee are

(1)
)
3)
(4)

Digvijaya Singh, Ahmed Patel and Mallikarjuna Kharge

Digvijaya Singh, Veerappa Moily and Gulam Nabi Azad

Digvijaya Singh, Veerappa Moily and Ahmed Patel

Digvijaya Singh, Ahmed Patel and P. Chidambaram

©0(& @3?35 o9 dFES @°go° x%é‘bzéléoﬁog [SESRISIQSRNS HoNS s SED &
HOFY TH0IK Sy drSdes ad) IDEs» grdd (Dahdgo AK. ©ofd egggsd
28D DooVod. & EBSD dgogeo

¥

(1)
)
3)
(4)

afgedl 208, o8 DTS 0N HQPdod e T
&hgmdd oAk, 36635&30&3@ D208 Hoewrodd) eserd
BAgRd5 ©of, DEDIFooNd B0 wiryb HES
Bhgedd Doh, @& HES H000%» VS0 o

188.

Match the following

(a)

(b) Bhoopathi Krishnamurthy

(©)
(d)

List-I
V. Prakash

Muralidhar Deshpande
Akula Bhumaiah

& (800 7B wEHEH®

(a)
(b)
(c)
(d)

(1)
2)
3)
4)

Rt ALl |
Q. (ds@
PrOS Eya Hord
$08936 BI>r0T
eHo PrrHo0d IS
@@ b © (@
@iv) (i) (1) (1)
(1) (@av) @Gi) 1)
(i)  (v) (D) (1)
(iv) (i) (i) (1)

List-I1
(i) Telangana Janasabha
(i) Telangana Mukti Morcha
(iii)) Telangana Mahasabha
(iv) Telangana Prajasamithi

Al B
(1) Seomrs el D
(i) Bwomrem Hn& Jord)y
(i1l) Swonres Hossdey

(iv) SBoormre (He® D&




189. Match the following

(a)
(b)
(©)
(d)

List-1
Jai Bolo Telangana
Shadow lines
Still seeking justice

Nyayam Kosam Telangana Nirikshana

& (800 2D aEHBBoED

(2)
(b)
(c)

PR |
g 58S Bwomrs

>& 8)

?gef %80/ 23?85

List-11
(1) Shanker
(i1)) Prem Kumar Aman
(ii1)) K. Chandrasheker Rao

(iv) Osmania University Forum for Telangana

ede-I1
(i) %0%8
(i) (D0 576 @
(iii) 3. So@Hws =D

(d) srgosoo §bo-Bwome g (iv) &yd0sr 0% dH0)E8 FPYo HE Bvormre

(@ () (© (@
I @ @) (@Gv) (i)
2 @O a) (@) (@Qv)
3) @ av) (@G) (i)
4 ) @ (av) (i)

190. Match the following
List-1 List-11
(a) Hiten Bayya Committee (i)  Salaries and pensions of the Government Employees
(b) Gangopadyaya Committee (i1)  Electricity
(¢) Koneru Ramakrishna Rao Committee (iii) Public Sector Industries
(d) Subramaniyam Committee (iv) Higher Education
S8 (8080 A wEHSTWL0
-1 rde-I1

(a) 88 g ENE (i) A8 Bootw a&gie EEFSghwes, Hotd
(b) Ko grgass Eoe (i)  Dogsy§
(c) §°T& ordogyarocs) Eod (i) (Dehdg Jod Doped
(d) Do Hoewgo Ees (Iv) &3)8 2y

@@ b (© (@
(H @ ) Gv) ()
(2) @) @)  aGv) @)
3) ) @ (av) (i)
4 G) (@v) @) (@)




191. Match the following

List-I List-11

(a) Porakala Dora (i) Shanigaram Venkateshwarlu

(b) Whiteman (i) Dasari Laxmikantham

(c) Sahu (ii1)) Muppala Laxman Rao

(d) Ganapati (iv) Ekkaladevi Sambashiva Rao

&5 (800 TP wHDLWoK0

-1 -1l

(a) >dse &Y (i) 43480 TogEHY:

(b) IEIrgS (1) oo @égs"oéo

(c) oo (i) Bory¥ oF 6 o°d)

(d) o0& (iv) 28 0T Jo FHooD)
@ ® © @

() Gy Gv) () (i)

2 @ @ (Gv) (i)

G @O @ @@y (@)

@ @Gv) @a) @@ (D)

192. Which one of the following statements is not correct regarding 1969 Telangana movement ?

(1) Telangana people questioned the idea of Linguistic State : A.B. Vajpayee

(2) Telangana people will not accept less than Regional Autonomy : C.C. Desai

(3) Prime Minister should consult Telangana Prajasamithi leaders before anouncement of any
statement in Parliament : K. Manoharan

(4) Prime Minister should take political solution to the Telangana movement : K.L. Gupta

1969 Swomre &Cﬁgéaéwzééa Do ofow & (8od @3261526&3@)@5% NI DOOHIL 520

(1) Svome (Hzw grak (H5»E o°R9dwe eH3 (DI oward @ A.B. sredron.

(2) Boomre (Haueo o8O 03050 VgraidE (H&DY 08 K0 H (DA L5 wohEdoWLL:
C.C. Barowm.

(3) FEDowwd® Boomrn™ (DFHH0(@ o (HEGID DS H00d Bvomrn (HEHdn S
I 5%l bohhowd : K. $T8R.

(4) (DGrd0(@ Boomre GEgHBNILH orez 8 0% DY B D02 ééo?&é@oﬁwéo

K.L. i




193. As a part of the Economic reforms and on the recommendations of World Bank, the then
Andhra Pradesh Government divided Andhra Pradesh Electricity Board into

(1) Generation, Transmission and Construction

(2) Generation, Transmission and Distribution

(3) Hydel Power, Solar Power and Thermal Power

(4) Distribution, Construction and Transmission

eagé “coo“(ozrdsaéaaé*’ o 0dkn (DHoS arsoéa QrEdo8 wdhemonr @8 wo(d
(BT gy (Dpdgo Toh9 Doguy 8 S0 BTk bopenm DeEoNod.

(1) &&3y8, SEHo" H008» Voo

(2) &8)8, DEHo° HdASH Do

() =o 8gE, TS Jhogdy HOWBH FEIS ASogEy

(4) Doed, Jorywo H0IBw DEHor

194. Match the following

List-1 List-IT

(a) Leader (i) Mamidi Ramakanth Rao
(b) Jai Telangana (i1) Munir Jamal
(c) Tenugu Vani (ii1) P. Janardan Reddy
(d) Telugu Gadda (iv) S.Satyanarayana
& (80D TP wSDHL W0

eI rde-I1
(a) &6 (1) HrDd JHrstodord)
(b) B Sworre (i) H$0J86 zdrS
(c) Blodo o3 (i) . &m%ﬁS 3&
(d) B 6d (iv) 2%, dEgroradoe

@ (b (© @
() () Gv) @) @)
2 G @ (Gv) (i)
G) ) @) Gv) ()
(4) @) Gy @O (1v)

195. Who was the editor of Telugu version of ‘Meezan’ newspaper ?

(1) Madiraju Koteshwar Rao (2) Dasharati Rangacharya
(3) Devulapally Ramanuja Rao (4) Adavi Bapi Raju
W2l HBE B (HBB DD AGOEM &0&d?

(1) Sraocw §THE6 oo (2) o486 Somadogen

(3) BHOD ordrdonord) (4) ¢ wrdoree




196.

Which one of the following statements is not correct ?
(1) According to Gentlemen agreement, future recruitment to services will be on the basis of

population from both sides.

(2) GO. 610 was issued to rectify the lapses in implementing the Presidential order and injustice
meted out to Telangana people.

(3) According to the Gentlemen agreement the Cabinet will consist of members in proportion
of 50 : 50 for Andhra and Telangana respectively.

(4) In 1953 the Government of India constituted State Re-organisation Commission under the
Chairmanship of Justice Fazal Ali.

S8 (800 (DHIIB00S® & HTIS 5°&?

(1) g Dodotwe adjoddn (H5°85m» FINgHS® 286 T JBrHsod) ey
(FEHET wdofozron.

(2) 2.4. 0. 610 o V%S T20d 07908 G Gge wHed® addrd) FEare o
Q008 Boomrn (DuodH w2difdd) ®Igaidno Q003 Q& H.

(3) g HoJoe 2B odHw (HEPEHN o°RY 315?336'5_@3”3 gl (oo wo(F-Bwomrs
(Froere @08 $50(8 DEHoo 50 : 50 D0 YES® soxd.

(4) 1953 &° 88 (dehdgdn wR Pad ©d TLHdgos® crhdwe PIE e
RS JosnoNod.

197.

Before the States Re-organisation Commission many leaders expressed the opinion that the merger
of an advanced region like Andhra with a backward region Hyderabad State would lead to

(1) Backwardness (2) Development

(3) Disintegration (4) Internal colonisation

oral9o YBO Jefwd E0HS $wod Trer 08 rohdHen Tew 2D @P(F°CH (D5PEHW
“@@ég@ﬁo&é wo(gerod (rodo8 TE ¢ (FodFd wdorerd orRododn EOVHS
©d ®odomr HJ8 o0 Ho5IJ rAod.”

(1) JdoZeren S350 (2) @@ég(g

3) DZ)}DS"‘)VD?, (4) ©o088g H00H




198.

To oppose Sanjeeva Reddy ministry in 1963 who said “Andhra Government, seem to be a
Government of the Reddys, for the Reddys and by the Reddys” ?

(1) T.N. Sadalakshmi (2) Konda Laxman Bapuji

(3) S.Nagappa (4) K. Rajamallu

1963 &° 8BS H0LDTE (HehSgHmo ég@ééfoﬁ Teo(§ (Hehsgswn, Béw ($20Sg 0,
Tho 5% 2000 TEeod o ogargdodod

(1) 8.9:. focswég (2) Fow of3e5 wrPe

(3) 0. AD) (4) 3. cedow

199. Name the leader, who presided over ‘Telugu Bhasha Samithi’ meeting in July 1955 and asserted

that “Culturally Vishalandra was already a reality”.
(1) Konda Venkat Ranga Reddy (2) Burgula Ramakrishna Rao
(3) Madapati Hanumanth Rao (4) Mandumula Narsing Rao

1955 &8 $r0ins® 205 Beoth erar S8 DHrBTIE wgE Hirdr “Fody yBom
DForo(§ a8 rddm adyEE HerSed.” wd Tgergdood.

(1) Som So¥d Jomr TG (2) rdo orHEyIrooD
(3) Sdare TrdobdooEoed) (4) oo I8yodorD
200. Find out the wrong pair concerned with Burgula Ramakrishna Rao Ministry in 1952.

(1) Mehdi Nawaz Jung — Public Health and Public Works

(2) M. Chenna Reddy — Agriculture and Planning

(3) Digambar Rao Bindu — Home

(4) Shanker Dev — Education and Village Development

1952 &° Q888 e TrHE)ErorE) $o(@ HPH0SEH Do 050D B0 I 2 0?2
(1) Dord SaE 20h — l}awé’sfﬂgéw, (Derddoe

(2) Qo. V) TE — HgHI"0hH0 B0 B0 (L

(3) &fo Bord Doy — wodIoh HgdHtoren

(4) 4086 TS — D&y %2000 (e ©DD)Q




